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Topic:- Commerce_25N5SH2_SHAAN_NOVZ1A

) FDI in Indian manufacturing has largely been
(1) Resource seeking (2)  Efficiency seeking
(8)  Market seeking (4)  Export —oriented
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[Question ID = 1511][Question Description = Q01_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6041]
2. 2 [Option ID = 6042)
3. 3 [Optien ID = 6043]
4. 4 [Option ID = 6044]

Correct Answer :-
e 1 [Option ID = 6041]

2) Qccasional sale of a commodity at a lower price abroad in order to unload an unforeseen and
temporary surplus of the commodity without reducing domestic prices is called :

(1)  Persistent dumping (2)  Predatory dumping
(3)  Export subsidies (4)  Sporadic dumping
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[Question ID = 1512][Question Description = Q02_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6045]

2. 2 [Option ID = 6045]

3. 3 [Option ID = 6047]

4. 4 [Option ID = 604

Correct Answer :-

e 1 [Option ID = 6045]

3) Which of the following countries/territories 1s not a member of the WTO?
(1) China (2) Russia
(3) Iran (4 Talwan
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[Question ID = 1513][Question Description = Q03_Commerce_25N52_SHAAN_NOV21]
| 1. 1 [Option ID = 6049)
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| 2. 2 [Option ID = 6050]
3. 3 [Option ID = 6051]
4. 4 [Option ID = 6052]

Correct Answer :-
& 1 [Option ID = 6049]

[Question ID = 1514][Question Description = Q04_Commerce_25N52_SHAAN_NOV21]

1.
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Which of the following entity has recently been negotiated to replace NAFTA with effect from

July 20207

(1)  Quad group of countries

(2) USMCA

(3) Shanghai cooperation organisation

(9

Trans Atlantic organisation
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1 [Option ID = 6053]
2. 2 [Option ID = 6054]
3. 3 [Option ID = 6055]
4. 4 [Option ID = 6056]

' Correct Answer ;-
e 1 [Option ID = 6053]

[Question ID = 1515][Question Description = Q05_Commerce_25N52_SHAAN_NOV21]

(1)
2
(3)
(4)

Amalgamation adjustment account 1s used for recording:

Capital Reserve in the books of the transferee company

General Reserve in the books of the transferee company

Statutory Reserve in the books of the transferee company

Revenue Reserve in the books of the transferee company
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1. 1 [Option ID = 6057]
2. 2 [Option ID = 6058]
3. 3 [Option ID = 6059]

4. 4 [Option ID = 6060

Correct Answer :-

e 1 [Option ID = 6057]

The accounting standard AS3 (Revised) has become mandatory w.e.f. accounting periods

besinning from 01-04-2001 for which of the following enterorise?
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(1) Commercial, industrial and business reporting enterprises whose turnover for the

accounting period exceeds ¥ 50 crores.

(2)  Enterprises whose debt or equuty securities are not listed on a recognised stock

exchange.

(3) All enterprises whose turnover exceeds ¥ 2 crores.

(4)  Only banking and insurance
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[Question ID = 1516][Question Description = Q06_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6061]
2. 2 [Option ID = 6062]
3. 3 [Option ID = 6063]
4. 4 [Option ID = 6064]
Correct Answer :-
e 1 [Option ID = 6061]
7)
CCA method of inflation accounting is as a result of the recommendation of ?

(1) Wandilands Committee (2)  Tandlelands Committee

(3) Sandilands Committee (4) Marrylands Committee
Ferefifa S 6 @ di T faf feeehi gegfa = Tiom 27
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[Question ID = 1517][Question Description = Q07_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6065]
2. 2 [Option ID = 6066]
3. 3 [Option ID = 6067]
4. 4 [Option ID = 6068]

Carrect Answer ;-
» 1 [Option ID = 6065]

The net profits of a partnership business, after providing for income tax for the last five
yvears were: < 80.000; ¥ 1.00,000; ¥ 1.20.000; ¥ 1.25.000 and ¥ 2.00.000. The capital
emploved 1n the business 1s ¥ 10,00.000 and the normal rate of return is 10%. The value of

goodwill on the basis of the annuity method; taking the present value of the annuity of Re 1
for 5 years at 10% 1s 3.7907 (approx): will be

(1) ¥ 2,500 (approx) 2) ¥ 79,225 (approx)
(3) T 04,770 (approx) (4 ¥ 2.25,000 (approx)
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(1) %.2,500 () (2)  %.79,225 ()
(3) % 94,770 (=4T) (4  %.2,25,000 (eFHT)

[Question ID = 1518][Question Description = Q08_Commerce_25NS$2_SHAAN_NOV21]
1. 1 [Option ID = 6069]
2. 2 [Option ID = 6070]
3. 3 [Option ID = 6071]
4. 4 [Option ID = 6072]

Carrect Answer ;-
& 1 [Option ID = 6069]

9)
The cross elasticity of demand between the complementary products 1s:
(1)  Positive (2) Zero
(3) Negative (4) Infinite
YR IS % dfte m A ufde= 2
(L  T= (2 =T
(3)  BUCHSD (4) A<

[Question ID = 1519][Question Description = Q09_Commerce_25N52_SHAAN_NOV21]
1. 1 [Opticn ID = 6073]

2. 2 [Option ID = 6074]

3. 3 [Option ID = 6075]

4. 4 [Option ID = 6076]

Correct Answer ;-

e 1 [Option ID = 6073]

10) ol : s ;
Income effect of a price rise 1s greater than its substitution effect 1n case of:
(1) Inferior goods (2) Giffen goods
(3) Status symbol goods (4) Perishable goods
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[Question ID = 1520][Question Description = Q10_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6077]

2. 2 [Option ID = 6078]

3. 3 [Option ID = 6079]

4. 4 [Option ID = 6080]
Correct Answer :-

# 1 [Option ID = 6077)

11)
If the scale parameter (r) 1s greater than one (r>1) the CES production function exihibits:
(D Decreasing returns to scale (2) Constant returns to scale
(3) Negative returns to scale (4) Increasing retwrns fo scale
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[Question ID = 1521][Question Description = Q11_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6081]
2. 2 [Option ID = 6082
3. 3 [Option ID = 6083]
4. 4 [Option ID = 6084
Correct Answer :-

e 1 [Option ID = 6081]
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12
) When demand is slack and market 1s competitive, firms follow which of the following pricing
methods?
(1)  Penetration pricing (2)  Peak load pricing
(3) Marginal cost pricing (4)  Skimming pricing
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[Question ID = 1522][Question Description = Q12_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6085]
2. 2 [Option ID = 6086]
3. 3 [Option ID = 6087]
4, 4 [Option ID = 6088]

Correct Answer ;-
a 1 [Option ID = £085]

13)

What is the value of a levered firm “L” if it has the same EBIT as an unlevered firm “U”,

(With value of ¥ 700 lac), has a debt of T 200 lac, tax rate 1s 35% under MM approach?

(1) T 050 lac (2) T 630 lac

(3) T 770 lac (4) T 525 lac

et soifera v L7 =1 g3 %90 5o Afe 39 T S s o1 21 FREl st | CUT, (700 9@ T
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[Question ID = 1523][Question Description = Q13_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6089
2. 2 [Option ID = 6090]
3. 3 [Opticn ID = 6091]
4. 4 [Optien ID = 6092
Correct Answer -

e 1 [Opticn ID = 6089]

the cost of a project and ifs future cash inflows into equality.

(1)  Accounting rate of return (2)
(3)  Profitability Index (4)

Internal rate of return

Net present value

uep e wigr &t & Forwwn s o7 uet R geinal § P smar 2 ek st aferismr wme sii g
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1s a percentage discount rate used in capital investment appraisals which brings
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[Question ID = 1524][Question Description = Q14_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6093]
2. 2 [Option ID = 6094]
3. 3 [Option ID = 6095]
4. 4 [Option ID = 6096
Correct Answer :-

e 1 [Option ID = 6093]

15
) The theory which explains the effect of devaluation on balance of trade is known as:
(1)  Phillips Curve theory (2) Mundell — Tobin Hypothesis
(3) J Curve Theory (4) K Curve Theory
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[Question ID = 1525][Question Description = Q15_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6097]
2. 2 [Option ID = 6098]
3. 3 [Option ID = 6099]
4, 4 [Option ID = 6100]

Correct Answer ;-
L e [Option ID = 6097]

The annual demand for an item is 3.200 units. The unit cost is T 6 and inventory carrying

charges 25% p.a. If the cost of one procurement is ¥ 150, determine number of orders per

year:
(L 3 (2) 4
3) 6 (4) 800

Tl areg it anfds @ 3200 T 2| T i ST 6 T R SR WHE gemd WUR 25% vioad 2t 7fE o
wlg =i @ 150 T 8 A1 oTEt i wen Fuifa fir|

1 3 2 4
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[Question ID = 1526][Question Description = Q16_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6101]
2. 2 [Option ID = 6102]
3. 3 [Option ID = 6103]
4, 4 [Option ID = 6104]

Correct Answer ;-
e 1 [Option ID = £101]

L If each value 1n a given set of data is divided by 4, how will it affect Karl Pearson’s coefficient

of Skewness?

(1) It wall reduce the value of co-efficient to one fourth
(2) It will inerease the value of co-efficient to four times
(3) It will not affect the co-efficient of Skewness value

(4)  Nothing can be said about the change

. e - R = - " " A~ b . [l " B - - B
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[Question ID = 1527][Question Description = Q17_Commerce_25N$2_SHAAN_NOV21]
1. 1 [Option ID = 6105]
2. 2 [Option ID = 6106]
3. 3 [Option ID = £107]
4, 4 [Option ID = 6108]

Correct Answer :-
a 1 [Option ID = £105]

A comn and pair of dice are tossed together, the total number of possible outcome for an

experiment 1s :

(1) 12 2 72

(3 36 49 24
T TR W1 3R T SIS T TH WY IS A 2, 36 AN % AU RO i g S e £ 7

() 12 25 2

(3) 36 4 24

[Question ID = 1528][Question Description = Q18_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6109]
2. 2 [Option ID = 6110]
3. 3 [Option ID = £111]
4, 4 [Option ID = 6112]

Correct Answer ;-
a 1 [Option ID = £109]

12} Each of the values of a series 1s decreased by K. Which of the following does not hold in the
context?
(1)  The guartile devaation does not change.
(2)  The co-efficient of quartile deviation remain unchanged.
(3) The lower and upper quartile values each increases by K.
(4  The gquartile coefficient of dispersion rises.
el e % voim 9§ § K e G s 31 3@ ved o Frfafea § ° we-m w7 20
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[Question ID = 1529][Question Description = Q19_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Optien ID = 6113]
2. 2 [Option ID = 6114]
3. 3 [Option ID = 6115]
4. 4 [Option ID = 6116]
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e 1 [Option ID = 6113]

20)
For Binomial distribution with n = 30, g =0.7. the mean and variance will be equal to:
(1) 21and V6.3 (2) 9 and V6.3
3) 9 and 6.3 (49 21 and 6.3

feug sie 9@ n =30, ¢ = 0.7 %, % Toru srea 3 fa=ror Fraes sy g
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(3) o 363 (4 213 6.3

[Question ID = 1530][Question Description = Q20_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6117]
2. 2 [Option ID = 6118]
3. 3 [Option ID = 6119]
4. 4 [Option ID = 6120]

Carrect Answer ;-
& 1 [Option ID = 8117]

21
} A type of validity based on showing that scores on the test (Predictors) are related to job
performance 1s:
(1)  Test vahidity (2) Criterion validity
(3) Content vahdity (4)  Construct validity

U F TH TR T T2-TE0E a2 6 wWiem % TR (EiEEE) s w enatia 8, FE T
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[Question ID = 1531][Question Description = Q21_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6121]

2. 2 [Option ID = 6122]

3. 3 [Option ID = 6123]

4. 4 [Option ID = 6124]

Correct Answer :-

s 1 [Option ID = 6121]

22 : oo - - i
) Which among the following 1s not a characteristics of transactional leaders?

(1)  Gives personal attention, treats each employee individually.
(2)  Abdicates responsibilifies, avoid making decisions.

(3) Intervens only when standards are not met.

(4) Contracts exchange of rewards for efforts.

fefafiga 9 2 #i9-u1 sagier e fi e =E 20
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[Question ID = 1532][Question Description = Q22_Commerce_25NS$2_SHAAN_NOV21]
1. 1 [Option ID = 6125]
2. 2 [Option ID = 6126]
3. 3 [Option ID = 6127)
4. 4 [Option ID = 6128]

| Correct Answer :-
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23) Stretch goals that challenge people to achieve higher levels of success in current activities 1s
known as:
(1) Control stretch goals (2) Cluster stretch goals
(3) Vertical stretch goals {4) Horizontal stretch goals

fereaiita @2 i APT = gadE TRfEReET § geeEr % e WA B U e R T S0 E, o e

w27
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[Question ID = 1533][Question Description = Q23_Commerce_25NS$2_SHAAN_NOV21]
1. 1 [Option ID = 6129]
2. 2 [Option ID = 6130]
3. 3 [Option ID = 6131]
4, 4 [Option ID = 6132]

Correct Answer ;-
o 1 [Option ID = £129]

Usually in which one of the following performance appraisal technique, subjects
self — ratings are negatively correlated with their subsequent performance in an assessment

center?
(1)  Appraisal by subordinates (2) 360 — Degree feedback
(3) Self — ratings (4)  Peer Appraisals

g Fefafaa § 9 fre srfene geam o 3 Bt goae e § o F = g
I ITEH] HEACET d FHECeTE e e s 27
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[Question ID = 1534][Question Description = Q24_Commerce_25NS52_SHAAN_NOV21]
1. 1 [Option ID = 6133]
2. 2 [Option ID = £134]
3. 3 [Option ID = £135]
4, 4 [Option ID = 6136]

Correct Answer ;-
o 1 [Option ID = £133]

Which one of the following statements is true about the risk considered for capital

requirements under Basel I1?

(1) Credit risk, interest rate risk and foreign exchange risk
(2 Credit risk, market risk and operational risk
(3) Credit nisk, political risk and country risk

(4) Credit risk, interest rate risk and political risk
Frfoafaa 9 2 FF-m %F sme 1% Jiaa YSira SeRasaial = fore i i & weg 8 w5 27
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[Question ID = 1535][Question Description = Q25_Commerce_25NS$2_SHAAN_NOV21]
1. 1 [Option ID = 6137]
2. 2 [Option ID = 6138]
3. 3 [Option ID = 6139]
4. 4 [Option ID = 6140]

Correct Answer ;-
e« 1 [Option ID = £137]

26)
Which one of the following 1s not the characteristics of mutual funds?
(1) Consistent Investment process 2) Strong fund management
(3)  Diversity in interest rates (4)  Differences from the benchmark

Frfrtiaa & @ #H-0 o=@ 58 Fi o fema = et
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[Question ID = 1536][Question Description = Q26_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6141]
2. 2 [Option ID = 6142
3. 3 [Option ID = 6143]
4. 4 [Option ID = 6144]
Correct Answer :-

e 1 [Option ID = 6141]

27
! Which one of the following statements 1s false?

(1) Capital market 1s a market for medium and long term funds.

(2) GDR 1s a negotiable instrument 1ssued by a US bank.

(3) Many publicly listed companies in India trades their shares through Bombay stock
exchange or national stock exchange.

4) Securities that are listed on various stock exchanges are eligible for being traded
there, are called listed securities.

Frefafaa 9 @ =9 @ % Te@ 27
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[Question ID = 1537][Question Description = Q27_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6145]

2. 2 [Option ID = 6146]

3. 3 [Option ID = 6147]

4. 4 [Option ID = 6148]

Correct Answer ;-

e 1 [Option ID = 6145]

Which one of the followings is not the service provided under NBFCs?

(1) Leasing services (2) Implementing modernisation
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(3) Asset management services (4) Mutual benefit finance services bank
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[Question ID = 1538][Question Description = Q28_Commerce_25NS52_SHAAN_NOV21]
1. 1 [Option ID = 6149]
2. 2 [Option ID = 6150]
3. 3 [Option ID = 6151]
4. 4 [Option ID = 6152]

Correct Answer -
& 1 [Option ID = 6149]

29)
Which of the followings can be categorised as information processing services?
(1) Legal services (2) Health care
(3) Education (4) Management consultancy

w4 9 forul v ge-vlEm (s st aftem) | ofigpa Bem o e 27
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[Question ID = 1539][Question Description = Q29_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6153]
2. 2 [Option ID = 6154]
3. 3 [Option ID = 6155]
4. 4 [Option ID = 6156
Correct Answer :-

e 1 [Option ID = 6153]

Which of the following is not true about rural markets?

(1) Print media is not necessarily impactful in rural markets.

(2) Rural customer 1s price sensitive.

(3)  No significant change may be required in the advertising copy.

(4)  Products should be simpler, easy to use, service and maintain.
T | Hi wnfior Ao = T b ud i 2 v
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[Question ID = 1540][Question Description = Q30_Commerce_25N$2_SHAAN_NOV21]
1. 1 [Option ID = 6157]
2. 2 [Option ID = 6158]
3. 3 [Option ID = 6159]
4, 4 [Option ID = 6160]

Correct Answer ;-
e« 1 [Option ID = £157]

Which of the following 1s not true for supply chain mangement approach?
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(1) Joint reduction in channel inventories

(2) Large breadth of supplier base to increase competition and spread rsk
(3 Risks and rewards are shared over long term

(4) Companies use intermodal transportation to reach to their markets

=1 4 @ FE-T sy ->TEen YSeT YT ¥ Y | Tel T8 8 7
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[Question ID = 1541][Question Description = Q31_Commerce_25NS2_SHAAN_NOV21]

1. 1 [Option ID = 6161]

2. 2 [Option ID = 6162]

3. 3 [Option ID = 6163]

4. 4 [Option ID = 6164]

Correct Answer ;-

¢ 1 [Opticn ID = 6161]
Which one of the following 1s true for consumers?
(1) Consumers are rational and think in a linear manner
@) Culture and society have relationship to consumers’ thoughts and feelings

(3) Consumers can be motivated to believe and internalise messages the way the
marketer desires

(4) Consumers can explain their thought and behaviour

TTH BT STUEAT % o0 el 2 7
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(2) UTFld TH U SO % el T e ° gey Eie 2
(8)  IumvrTel 7 URa TR < wepan 2 T 9 Toeal % TeRTAR wew U favaw = v e =)
(4) I WA e vg sraEn ) s = g
[Question ID = 1542][Question Description = Q32_Commerce_25NS$2_SHAAN_NOV21]
1. 1 [Option ID = 6165]
2. 2 [Option ID = 6166]

3. 3 [Option ID = 6167]
4. 4 [Option ID = 6168]

Carrect Answer ;-
& 1 [Option ID = 8165]

The amount of penalty for making a false statement to the “Competition Commission” by a
person who 1s a party to a combination shall be between

(1) 20 lakhs to 50 lakhs (2) 50 lakhs to 1 crore
(3) 8 lakhs to 10 lakhs (4) 70 lakhs to 1 crore

f2 Freft T 1 meew i =fFa aRrTl ot F AT et s AW 2, A s foe aieds B

(1) 20<m@ ¥ 50 9™ (2) H0TEY 1E
(3) 8¥@F 10=@ 4 0@ 1FS

[Question ID = 1543][Question Description = Q33_Commerce_25N52_SHAAN_NOV21]
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. 1 [Option ID = 6169]
2 [Option ID = 6170]
3 [Option ID = 6171]
. 4 [Option ID = 6172]

Your Personal Exams Guide
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Correct Answer :-
e 1 [Option ID = 6169]

‘A’ Minor takes a loan of Rs.4.000/- from ‘B’ during his minority, on attaining majority, he
applies to ‘B’ for a further loan of Rs. 3,000/- ‘B’ gives this loan and obtains from ‘A’ a
combined promissory note of Rs.7,000/- for the two loans. This is considered as:

(1)  Void Contract (2)  Vahid Contract

(3) Illegal Contract (4) Unilateral Contract

HITEH ‘A’ T ATTEHA B e B ¥ %.4,000 O odl 2] 996 2H W H2 B % 9F €.3,000 H
AAfdfad w01 o & TIT 3EeT aar 21 B 48 601 € a1 7 31 ‘A’ ¥ gF1 i % forw %.7,000 1 GE
tas—o o1 2 o 3 T SE

(1) =2 wfaa (9 3y afEE
(3)  TR-rE Gl (4) v i

[Question ID = 1544][Question Description = Q34_Commerce_25NS$2_SHAAN_NOV21]
1. 1 [Option ID = 6173]
2. 2 [Option ID = 6174]
3. 3 [Option ID = 6175]
4. 4 [Option ID = 6176]

Correct Answer :-
& 1 [Option ID = 6173]

Which among the following essence of the information technology act is not a correct
statement?

(1)  Legal Recognition of Electronic documents

(2) Any contract for the sale or conveyance of immovable property or any Interest in such
property

(3) Legal Recognition of Digital signatures

{(4)  Justice Dispensation system for cyber crimes

f=ferfiga & @ gemn Soreiel srffEm =1 Si-w 9), @ed HuA TE 87

(1) om0 Searast %1 T BT

@) = "o R o afess % fo o ddh dof F sfiefa < fore 1R AR
(3) fEfem weamrd i Frrt T

(@) TR euHt % foe = sagse @

[Question ID = 1545][Question Description = Q35_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6177]

2. 2 [Option ID = 6178]

3. 3 [Option ID = 6179]

4. 4 [Option ID = 6180]

Correct Answer ;-

e 1 [Option ID = 6177]

36)
Which one of the followings 1s not included in the term “Work™ under copyrght Act 19577
(1) A Cinematographiec film (2) Layout designs of integrated circuits
(3) A sound recording {(4) A dramatiec work

TS STAFTE, 1957 % iova Aereitga 8 § e = ‘=’ 4 et = e s 27
(1)  frFmEmtss e (2 TS A F A-omse aeey

P —b e e SN = CE—. |
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[Question ID = 1546][Question Description = Q36_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6181]

2. 2 [Option ID = £182]

3. 3 [Option ID = 6183]

4. 4 [Option ID = 6184]

Correct Answer :-

s 1 [Option ID = 6181]

Tax audit 15 compulsory in case of a person in a profession whose gross receipts from the
profession exceed:

(1) Rs.1 crore (2) Rs.40 lakh
(3) Rs.60 Lakh (4) Rs.50 Lakh

Ife e SafFa IO W T2 B, O UN T Heohel WIE! Rhad & 21 BH W SR aihet L1t B 27

() .1 e (2) %40 @@
(3) ®.60 @G 9 ws0T@

[Question ID = 1547][Question Description = Q37_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6185]
2. 2 [Option ID = 6186)
3. 3 [Option ID = 6187)
4. 4 [Option ID = 6188]

Carrect Answer ;-
s 1 [Option ID = #185]

28) Maximum tax-free limit for payment received under voluntary retirement scheme is:
(1) Rs. 4,00,000 (2) Rs. 5.00.000
(3) Rs. 8,00,000 (4) Rs. 10,00,000

ez A o1 + ST qe WaH 6 e aifsan F-gad Him 2

(1) Rs. 4,00,000 (Z2) Rs. 5.00,000
(3) Rs. 8,00,000 4 Rs. 10.00.000

[Question ID = 1548][Question Description = Q38_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6189]

2. 2 [Option ID = £190]

3. 3 [Option ID = 6191]

4. 4 [Option ID = 6192]

Correct Answer ;-

e 1 [Option ID = £18%]

39
: A 1s Resident in India aged 60 years earned agricultural income of Rs.5,00,000 and non-
agricultural income Rs.3,00,000 during the previous yvear 2019-20. What 1s tax hbaility of A?
(1) Rs.72,000 (2) Rs.72,100
(3) Rs.2,600 (49 Niu

‘A’ wra F T 3 S 3w 60 a9 2 o 59 @ 9 2019-20 7 F F 9™ %.5,00,000 AT R-FA

M %.3,00,000 7F) A’ =1 = a1 F0 A7
(1)  %.72,000 (2 72,100
3)  %.2,600 @ =

[Question ID = 1549][Question Description = Q39_Commerce_25N$2_SHAAN_NOV21]
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. 1 [Option ID = 6193]
2 [Option ID = 6194]
3 [Option ID = 6195]
. 4 [Option ID = 6196]

Correct Answer :-
e 1 [Option ID = 6193]

prepp
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40)  Any planning of tax which aims at reducing tax liability in legally recognised permissible

‘F§ R A e vE FH §9 ¥ grana SEET Ot @ a1 § wH B 8, SH @8

way can be termed as an instance of:

D
(3)

Tax planning (2) Tax avoidance

Tax evasion (4) Tax management

qehd 2 ¢

(L
(3)

[Question ID = 1550][Question Description = Q40_Commerce_25NS2_SHAAN_NOV21]

L T (2 W ulEr

H T (4 R TEE

1. 1 [Option ID = 6197]
2. 2 [Option ID = 6198]
3. 3 [Option ID = 6199]
4. 4 [Option ID = 6200]

Correct Answer ;-
e 1 [Option ID = 6197)

41)  Identify the principles of trade policy framework from the followings under the WTO:

forga =R weA % HAdt, Freafefaa 4 9 =R fifew e fagmt fi vgmm Hitb

(&)
B
©
D)
(E)

(A)
(B)
G
)
E)

Reciprocity and transparent
Benefactory and resilient
Non-discriminatory

Binding and enforceable commitments

Protective and benevolent

Choose the correct answer from the options given below:

(1)
(2)
(3
@D

(A). (B) and (C) only
(C). (D) and (E) only
(A). (C) and (D) only
(B). (D) and {(E) only

TREAERT 3R qrEgl
Teasrll o7 ehen

Ty ]

Ffavamr
AEAHR I Yaa-g gEEgae
TLUITensh S feady

Frat fou 7o ool 4 O T ST @ 9= i

(1)

wad (A), (B) 3R (C)
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(3 =ad (A), (C) 3R (D)
@  ad (B), (D) 31k (E)

[Question ID = 1551][Question Description = Q41_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6201]
2. 2 [Option ID = 6202]
3. 3 [Option ID = 6203]
4. 4 [Option ID = 6204]
Correct Answer :-

s 1 [Option ID = 6201)

The rights of the consumer as enunciated under section 6 of the consumer protection Act,
1986 includes:

(A) To be protected against the marketing of goods and services which are hazardous to
life and property

(B) To be assured the competitive price and low cost quality products and services

(C) To be assured that consumers’ interests will service the due consideration at

appropriate forums
(D)  To be protected for multiple use of products. profits, diversity and equity.

(E) To be informed about the quality. potency, purity and price of goods or service

Choose the correct answer from the options given below:

(1) (A, (B)and (C) only
@2 (B).(C) and (D) only
3  (O). (D) and (E) only
4 (A), (C)and (E) only

SUHTFAT TRV ATHEW, 1986 F GRT 6 & ITUR TN H R 0 FAteriaa Wi 2
(A) U gt oK Tt % fauvm % freg weer S Sfem 3wt % fae Siemy 21

(B) vl go a Fraerma o A Sl ST Henati W S|

(C) 7% A 6 suwemed % &t | wafie v= R st e e e

(D) e, @, fafuar @ vua % gga v &g W

(E)  Soaie 9 HaaTl =hi Traml, Wi, Ygal @ §oF % 9] ¥ graa A e

Fr= fov T et § @ o o8 %1 = Hifw

1) F (A), B) 3 (C)
2  F= B). (C) 3R (D)
(3 &= (C), (D) 3R (B)
@  Fa A). (C) 3R (B)

[Question ID = 1552][Question Description = Q42_Commerce_25NS52_SHAAN_NOV21]
1. 1 [Option ID = 6205]
2. 2 [Option ID = 6206]
3. 3 [Option ID = 6207]
4. 4 [Option ID = 6208]

Carrect Answer ;-
& 1 [Option ID = 6205]
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Which of the following events after the balance sheet date would normally qualify as

adjusting events according to AS-4 (Events after balance sheet date)?

(A) The insolvency of a customer on the balance sheet date
(B) A decline in the market value of investments
(C)  The declaration of an ordinary dividend

(D)  The determination of the cost of assets purchased before the balance sheet date

Choose the most appropriate answer from the options given below:

() (A, (C) and (D) only
(2) (A) and (B) only

(3) (B) and (C) only
() (A) and (D) only

gomw [ ¥ . it Prefafia § FH-9 oo s AS-4 (goam il % e B geant) ¥ emuw
T GHTETSR AT JiH] SA1et 7

(A) gew i G w o a1 s i i)

B) FEm % aew ger § fuoee

(C) TR @ = o

(D) o fafa % 76 wilid) w8 sfemtaa $ avm w1 farm

+r= four e forpedl 9 @ T SUTE SR W TEA HIC

(1) =ad (A). (C) 3R (D)
(2) TS (A) ¥ (B)
(3) Fad (B) 3 (O)

(49  FaS (A) I (D)

[Question ID = 1553][Question Description = Q43_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6209]
2. 2 [Option ID = 6210]
3. 3 [Option ID = 6211]
4. 4 [Option ID = 6212
Correct Answer :-

e 1 [Option ID = 6209]

Management According information is used for which of the following distinctive purposes

(A) Measurement
(B) Control
(C) Recording transactions

(D)  Alternative choices

Choose the most appropriate answer from the options given below:
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(1) A, B)and (C) only

2y  (B).(C) and (D) only
3) (A B), and (D) only
(4)  (A)and (C) only
TSHA A GEAT 6 W Frefafiga § 9 -3 fafie sgpal & g 2 20
(A) HIF
(B) frEEm
(C)  wH-<A1 = sitheeH

(D) et ===

= feu o fompedt § 9 @ 3O wEe Fifsw

(1)  FEd A). (B) IR (O
(2) =& B). (C) 3k (D)
(3) Faw (A). (B) 3k (D)

(4) A« (A) IR (C)
[Question ID = 1554][Question Description = Q44_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6213]
2. 2 [Option ID = 6214
3. 3 [Option ID = 6215]
4. 4 [Option ID = 6216
Correct Answer :-
e 1 [Option ID = 6213]

A U-shaped long-run average cost curve is based on the assumptions that:

(A)  Greater division of labour and specialisation accure to larger firms

(B) Minimum cost of production at various levels of output

(C)  Economies of scale prevail at small levels of output

(D) It becomes more difficult to manage the firm effectively as it grows bigger

(E) Diseconomies of scale prevail at larger level of output

Choose the correct answer from the options given below:

1) (&), (B) and (C) only
2 (B), (C) and (D) only

(3  (B). (), (D) and (E) only
4 @A), (©), (D) and (E) only

7 R T LI TTHT T a5 B smaamme | smanfa 27

(A) 79 F gEer fawem 1 e st wAr o B 2

(23] ﬁ{ﬂ %E == m:'r W ==I1=3 & =90 wniA |
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(€)
(D)

(E)

e % og T W aREmes gy w5l 2l
FH % ¥% o o W I8 v 20 9 vettm w0 st wiEa 5 S 2

frta % FEat ¥ W afmrmes |

Hr= f2u o et A A w1 3 B = AR

(D
2
(3)

(4

A (A). (B) 3R (O)
= (B), (C) 31 (D)
A (B). (C), (D) 3R (E)
A (A). (C), (D) T (B)

[Question ID = 1555][Question Description = Q45_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6217]
2. 2 [Option ID = 6218]
3. 3 [Option ID = 6219]
4. 4 [Option ID = 6220]

Correct Answer ;-
e 1 [Option ID = £217]

Identify the necessary conditions for price discrimination:

(A)  There should be imperfect competition in markets
(B) Markets must be separable
(C)  Differentiated products and interdependence between firms

(D)  Elasticity of demand must be different in different markets

Choose the most appropriate answer from the options given helow:

(1)  (A). (B)and (C) only
2y (A0 and (D) only
(3) B). (C) and (D) only

(4 (A, (B)and (D) only

(&)

(B)

(©

(8)

e § arqot et B =l
AR B GAFERORT 2T =iz

Toreidiera seng o1l ol & s weR
fafir sl & @ $i s o= 2 =t

fr fou o famet o O ged 3ugeEd S T 9A it

(1)

2

FaA (A), (B) ¥R (C)

Fae (A), (C) 31 (D)

] — T L iy

prepp
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@) FaEa (A). (B) 3 (D)

[Question ID = 1556][Question Description = Q46_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Optien ID = 6221]
2. 2 [Optien ID = 6222]
3. 3 [Optien ID = 6223]
4. 4 [Option ID = 6224

Correct Answer :-
e 1 [Option ID = 6221]

Which of the following explains downward slope of an ordinary demand curve?

(A) Income effect of price change

(B)  Substitution effect of price change
(C) Utility Maximising behaviour of consumer

(D)  Risk averse behaviour of consumer

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only

(2)  (B), (C)and (D) only
3 (&), B) and (C) only

(49 (&), (C) and (D) only

Freafeitag 5 o F91 T 97 9% i ST @ i T Al 27

(A) T UiEdT w1 3T TE|
(B) T UitEd w1 URRATH W)
(C)  IUNIHT =1 ITAFT =1 2ATERdH " I/l =JagR|

(D)  39Nier =1 SiEas ¥ 9FH arel sIagr|

e e fredl F ¥ gl SUIH STH =T e

1) ¥ (A) I (B)

@ @ B). (C) 3R (D)
(3) AT (A). (B) 3 (C)
(4) e (A), (C) 3k (D)

[Question ID = 1557][Question Description = Q47_Commerce_25NS52_SHAAN_NOV21]
1. 1 [Option ID = 6225]
2. 2 [Option ID = 6226]
3. 3 [Option ID = 6227]
4. 4 [Option ID = 6228]

Carrect Answer ;-
& 1 [Option ID = £225]

The reasons put forth for the control over the activities of the international banks are:
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(A) These banks encourage inflation by adding stock of money supply through credit

creation

(B) These banks some times are responsible for bank failures that mar the interest of the

depositors

(C) They cause unmanageable indebtedness among the barrowing governments by
charging high interest rates

(D) They do not adhere to the credit allocation policy of the host government

Choose the most appropriate answer from the options given below:
(1)  (A). B). (C) only
(2) (A). (). (D)only
@  (B). (). (D)only
(B AQ.®B).©C) O

ST dnt % Frihergt g T = ST s T F

(A) 3 % T FE F wem @ wEgtd w0k gerehita i aeE 5d 2

B) 3 T R awm © Fli-wdl o Tt 2 9 2 foes SEmRTTe s g8 W 2

(© A I=u A1 T I U] UEHH 61 UHT SEUEdar 1 S od & Toeeh] <3a%l 431 o 9Td|

(D) & HEE TR 1 B e i w9 Tel i 8l

i 2 e forped! O @ weg Suaa ST 1 WA i
1) F9d @A), B), (©)
@) FE @A), (C), D)
(3) Haa (B). (C). (D)

4 Q. B ). D)
[Question ID = 1558][Question Description = Q48_Commerce_25NS52_SHAAN_NOV21]
1. 1 [Option ID = 6229]
2. 2 [Option ID = 6230]

3. 3 [Option ID = 6231]
4, 4 [Option ID = 6232]

Correct Answer ;-
a 1 [Option ID = 6229]

A new 1ssue debt or shares will invariably involve floatation costs in the form of:

(A) Legal fees

(B) Administrative expenses
(C) Brokerage

(D)  Underwnriting

(E) Risk premium

Choose the most appropriate answer from the options given below:
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(1) (A). (B), (D), (E) only Your Personal Exams Guide
(2) (A), (C) only

3 @), B). (C).(D)only
@ @), 3. O 0. ®

iU E M IR F M ATRER S ¥ T W e A W B 2
(Aa)  fafEre gew

(B)  yenuieE we

(©) ==

(D)  FARPIH

(B)  =ifem Hiftem

e fw u el O W ge IuTd SR R T hHife

(1)  =eet A), B), D). (B)

(2 A (A). (C)

(3) T (A), B). (C), D)

@ @A).3. 0. D).

[Question ID = 1559][Question Description = Q49_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6233]

2. 2 [Option ID = 6234

3. 3 [Option ID = 6235]

4. 4 [Option ID = 6236

Correct Answer :-

e 1 [Option ID = 6233]

Which of the following are the reasons for raising funds via securitization?

(A)  To raise capital using non-conventional sources
(B) To accelerate earnings for financial reporting purposes
(C)  To diversify funding resources

(D)  The potential for reducing funding cost

Choose the most appropriate answer from the options given below:

1 @) (©), (D)only
2y  (B).(C), (D) only
3 (O, (D) only

4) &), (B), (D)only

wfayfaa = wean ¥ [t Jer % wRe Fefaigs 9 0 wh-3 87
(A)  R-uHERE F d O FE

B) frfm foifén we &g e s



WWW.prepp.in ' r e p p

Your Personal Exams Guide
(C) facmiwwr % genedi = ferfaefiao

(D) faraaism erg e e ) el

e 2w o frrewl | O HOH SUgEd SO W T N

1) Faa (A), (C), (D)
@  %ae B). (C). (D)
@)  FaEe (). (D)

@ wEa Q). B). D)
[Question ID = 1560][Question Description = Q50_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6237]
2. 2 [Option ID = 6238)

3. 3 [Option ID = 6239]
4. 4 [Option ID = 6240]

I Carrect Answer ;-
& 1 [Option ID = §237]

Non-sampling errors may arise because of:

(A) Vague definitions used in data collection
(B) Defective method of data collection
(C) Incomplete coverage of the population

(D) Wrong eniry made in the questionnaire
(E)  Only a part of the population is observed and expected to avoid census study

Choose the most appropriate answer from the options given below:

1 @A) B, (O). (D) only
@ A (©), (D). (E) only

3  ®). (), (D), (E) only
@ @A), ®B), D), (E) only

fr-ufe =pH 9ot ftafiga 3§ 9 F6 #eon @ 5 awdl 27
(A)  ITHST BIEW H VI ITAE YIATNIE

B) TS TR = IRy Aty

(C)  Tmfte =i 3190 BV & Wik e s

D) wegEh § H T Tem wfafe

(E)  SF7OFT 31999 © 9= % 170 ORie & 25 = 21 Serr fen s 2 ot soeht smen = S 2

= fou v forpedt O W wEW SUgFd ST W OE HIT

(1)  FaA (A). B), (C). (D)

2)  FEA (A). (€), (D). E)

£ D M S STV ST
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[Question ID = 1561][Question Description = Q51_Commerce_25N52_SHAAN_NOV21]

1+

. o 5 B Wt B, T B

Hae (A), (B), (D). (E)

1. 1 [Option ID = 6241]
2. 2 [Option ID = 6242
3. 3 [Option ID = 6243]

4. 4 [Option ID = 6244]

Correct Answer :-

e 1 [Option ID = 6241]

[Question ID = 1562][Question Description = Q52_Commerce_25NS52_SHAAN_NOV21]

prepp

Your Personal Exams Guide

Which of the following are the correct statements with regard to positive skewed

distribution?

(A) Mean>Median>Mode

(B) Mean<Median<Mode

(C) Q3 —Median<Median—Q,
(D) Q3—Median>Median—@Q,
(E) Mean=Median=Mod

Choose the correct answer from the options given below:

(1)
2
(3
(4

HATenh fay faeau = 99y o fS=fcifigd o 9 #i9-u1 99 92 27

(A)
(B)
(C)
(D)

(E)

(A). (D) only
(A), (C) only

(B). (C), (D) only
B). (C). (D), (E) only

WM > AMEHH] > A5
WM < WA < T5aTH
Qz — FIEHI < WEH — @
Qs — HIEAH > AT — Q)

AEARAM = WA = Tgaih

4= fau o fomeat § O wEt ST = 9ae i ;

(1)
2
(3)
(4

¥ (A). (D)

Fad (A), (O)

#ad (B), (C). (D)
Fad (B), (O), D), (B)

1. 1 [Option ID = 6245]
2. 2 [Option ID = £246]
3. 3 [Option ID = £247]
4, 4 [Option ID = 6248]

Correct Answer ;-
a 1 [Option ID = £245]

Use of Focus Grouns and collaboration tools as a training needs assessment techniaue has
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(A) Time consuming or organize

(B) Unuseful with complex or controversial issues that one person may be unable or

unwilling to explore
(C)  Questions cannot be modified to explore unanticipated issues

(D)  Group members provide only information they think you want to hear

Choose the most appropriate answer from the options given below:

(1) (@A), B)only
2y (B), (C)only
3y (A, (D only
4y  (O), (D)only
TR % T AT Hearr Tl % T 1 R T it WAl IwsRl % yEm o+ Frefafea e

= .
oo

(A)  =Ta=F § o1fas o9g oF aren

B) e = fawwT fTwE e sr=w =6 § BE Ate S8 T W 9 Mieg® B, & o

ST
(©)  rgEAE e = = F % e aeE § aited e 5w 2

D) g F WEW Faw T8 AR IGH FE 2 A A Tugd 2 B o e g e

=t feu o ferreat @ O wew SeEEd SO W oA il

1) = @A) B)

@  #F B) (O

3) % (A), (D)

@ w4 (C), (D)

[Question ID = 1563][Question Description = Q53_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6249]
2. 2 [Option ID = 6250]
3. 3 [Option ID = 6251]
]

4. 4 [Option ID = 6252

Carrect Answer ;-
& 1 [Option ID = §249]

Principles of management are important and useful on account of the following reasons:

(A)  To increase managerial efficiency
(B) To attain social objectives

(C)  To train managers

(D) To improve research

(E) To coordinate material and human resources

Choose the most appropriate answer from the options given below:
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(1)
(2)
(3
(4)
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(B). (D) only
B). (C). (D) only
A). B). (C). (D). (E)

W % fagia Fefafag o o geeyo s sent €

(&)
(B)
©
D)
(E)

TR SHAT TS
QITRTh Seval = T TN
o H GUR FET

Hifers 3T 99 TETEE & S aEee

= f2u o ferreat 4 O gan s IO B = IS

1)
(2)
(3
4)

Fad (A). (E)

Had (B). (D)

Faa (B). (C), D)

Fa (A), (B), (C), (D). (B)

[Question ID = 1564][Question Description = Q5%4_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6253]
2. 2 [Option ID = £254)]
3. 3 [Option ID = 6255]
4. 4 [Option ID = 6256]

Carrect Answer ;-
s 1 [Option ID = 6253]

Which of the followings 1s not an approach to the structure of Indian Financial system?

(&)
(B)

©)
(D)

A brokerage can be either full service or discount

The financial system 1s concerned about money. credit and finance, the three terms
are intimately related yet are some what different from each other

Housing finance simply refers to providing finance for venture capital

Financial instruments may also be divided according to asset class, which depends on
whether they are debt-based or equity based

Choose the correct answer from the options given below:

@
@
(3
(4

(A). (C) and (D) only
(B) and (D) only

(C) only

(A) and (C) only

Frefafaa ° & H-T1 ST SRAE TR 9 % 2 O weita TE 27

(A)

(B)

Tl ol T A w2 2

Tl @ o, Fo oK R © weiga 8 3 A 95 R @R @ O TEY TEd 3 W 57

.
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(C) marE fom = g wifem i & e i wem =+ @ 2 21

D) FaswoisdoaSommaimter s ssns, TRk sm2HFa
SHUT-FTETRE 2 A7 Sfradt-HATamia |

i fiw o el § § W8 SO W T IR

(1) == A), (C) #R (D)

2  Fad B) It (D)

(3) FE (C)

(@) FEE (@A) (C)
[Question ID = 1565][Question Description = Q55_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6257]
2. 2 [Option ID = 6258]

3. 3 [Option ID = 6259]
4. 4 [Option ID = 6260]

Correct Answer ;-
e 1 [Option ID = 6257)

Which of the following statements is/are correct regarding application of data mining
techniques?

(A) Predicting future trends based on information available
(B) Electronic data interchange

(C)  Analysing demographic information about customers
(D)  Credit risk analysis
Choose the correct answer from the options given below:
(1)  (B) and (D) only
(2) (A, B), (C)and (D) only
(3  (A). (B)and (D) only
4  (A).(C) and (D) only
T2 ATEFR AR = ST ° afd etafaa ¥ @ -0 e e E7
(A)  Suersg goT o SUR W it i wforegarft s
(B) oI SR At

(C)  ATeHi i TIRHE GO B T B

D) =R gy fevermor

i fam o frmed! B © TE S w1 o i

1)  F (B) 3R (D)
@) % (A), (B), (C) 3t (D)

(3) wad (A), (B) 3 (D)
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@ A (A), (C) 31 (D)

[Question ID = 1566][Question Description = Q56_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6261]

2. 2 [Option ID = 6262]

3. 3 [Option ID = 6263]

4. 4 [Option ID = 6264]

Correct Answer ;-

e 1 [Option ID = 6261]

57)
Skimming pricing strategy delivers results:
(A)  When the size of the market 1s large and it 1s a growing market
(B) When the product is perceived as enhancing the customer’s status in society
(C) When the firm uses it as an entry strategy
(D) When the target market associates quality of the products with its price
Choose the most appropriate answer from the options given below:
(1) A). @) only
(2) (B). (D) only
(3 (B). (C)only
4 (A). (C), (D) only

o (wems Tar =ett) qea-faton FwRHiT o B 2|

(A) T NI9R F STEE 931 51 SR F9R 9% @ Al

(B) =& 309G T TATS A WETE i WA F oM ST 7 ST 5l
(C) /@ i=r Yo OFITT % F9 1 309 T Fa1 8

(D) 9 W&A SR 30T i UM B Gy 6 HAg I TATE gl

Hr fou U foredi 1 @ HeE SUEd ST H T HifAT

() F9a A). (B)
2  Faa (B). (D)
(8) Faa (B). (O)

4  Fa9 (A) (C) D)

[Question ID = 1567][Question Description = Q57_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6265]
2. 2 [Option ID = 6266]
3. 3 [Option ID = 6267)
4. 4 [Option ID = 6268]

Correct Answer :-
& 1 [Option ID = 6265]

Requirements for effective market segmentation are:

(A)  Accessibilitv
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(C) Measurable
(D) Vaoble

(E) Intensity in competition

Choose the most appropriate answer from the options given below:

(1)  (A). B)only

2) (B).(C).(E)only

@ @A). (). (D)only

4 @A), (C), (D). (E) only

gyl e ferverfrestn <t st @
(A) A

B FRdE

© s

(D) =y=Eea

(E)  wfeifiren <6 g=an

A= fou e ferepedi 0§ aY ITYE IT H FIA BT ;

(1) e (), B)

(2  =E B), (©), (B)

3  FE @A), (©). D)

@)  HE @A), (©). D), (B)

[Question ID = 1568][Question Description = Q58_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6269]

2. 2 [Option ID = 6270]

3. 3 [Option ID = 6271]

4. 4 [Option ID = 6272]

Correct Answer ;-

» 1 [Option ID = 6269]

Environmental characteristics/factors influencing distribution decisions are

(A) Government policy

(B) State of economy

(C) Social activistism

(D) Technological and infrastructure developments

(E) Statutory provisions

Choose the most appropriate answer from the options given below:

(1) (A, D)only
(2) (B (C). (E)only
3) @) (C). (D)only
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farauor o w61 wanfad 5@ T vl sficew /o 2

(A)

(B)

(©)

(D)

(E)

wH fifd
FAeferaen 6 g

wraferes Afshae
Hefirehl wa it
ERIECRERIE

= feu o foepedi U 6 ey I9gH ST FH T HI

oy
(2
(3)
4

99 (A), (D)

*ad (B), (C), (E)
+a9 (A), (C), (D)

FI (A), B). (D), (E)

[Question ID = 1569][Question Description = Q59_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6273]
2. 2 [Option ID = 6274
3. 3 [Option ID = 6275]

4. 4 [Option ID = 6276

Correct Answer -

& 1 [Option ID = 6273]

Which of the following statements are true regarding the objectives of Right to Information
Act? Indicate the correct code :

(A)
(B)
(©
D)

To operationalise the fundamental right to information
To set up system and mechanisms that facilitate people’s easy access to information
To promote transparency and accountability in governance

To minimize corruption and inefficiency i1n public offices and ensure people

participation in governance and desicion making

Choose the correct answer from the options given below:

(1)
2
3
4

(B). (C) and (D) only
(4). B). (C) and (D) all
(A). (B), and (C) only
(A), (B) and (D) only

Freafafaa 4 SR-8 s gam = afrer sfufem $ st & g6y d g € 9 FI8 51 9w

(4)
(B)
(C)
D)

gaq1 & Hifas sAier =) yaifag Fa
39 WA & |l Sl TAITE HE S GEAT B P g T GERA H 2
e 1 grefifar 3 FarEedl & Teafaa s

Wl HAfadl 1 WRRR 3 @ Hl SEad o wEa oW fvka § el wefied
ghfeag =)
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(1) & B). (C) AR (D)
@) = (4), B), (C) 3 (D)
(3) &Fd (A), (B) 3 (O)
@ &I (A), B) I (D)

[Question ID = 1570][Question Description = Q60_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6277]
2. 2 [Option ID = 6278]
3. 3 [Option ID = 6279]
4, 4 [Option ID = 6280]

Correct Answer ;-
a 1 [Option ID = 6277]

Which of the following taxes have been replaced by the GST? Indicate the correct code :

(A) Central Excise duty
(B) Service tax
(C) Taxes on advertisements

(D) Duties of Excise-Medicinal and toilet preparations

Choose the correct answer from the options given below:

1) A B) (D)only
2) @A) B)only
(3)  (B). (C), (D) only
(49  (C). D)only

ft ww & g Feafefee A @ Fm w0 =i shoenta fen T 27 = wie gta =
(A) FEE IS ToH

(B) "I W

(C) Tl o =%

(D) SAEYEE 19N 9 JATEA T

= oo o famew 4 O o s W T iR

() a9 (A). (B) ¥R (D)
2) Fad (A) ¥R (B)

(3  Faa (B). (C) IR (D)
@  FEa (C) 3R (D)

[Question ID = 1571][Question Description = Qé61_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6281]
2. 2 [Option ID = 6282]
3. 3 [Option ID = 6283]
| 4. 4 [Option ID = 6284]
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Correct Answer ;-
L e [Option ID = 6281]

prepp

e B T e

On which of the following grounds, the Tribunal may order for the winding—up- of a company
or a petition submitted to it. Indicate the correct code

(A)  Passing of special resolution for the winding up

(B) Conducting affairs 1n a fraudulent manner

(C)  Reduction in membership
(D)  Inability to pay debts

Choose the correct answer from the options given below:

(1) (A). B)and (C) only
(2) (A (B) and (D) only
(3  (A). B), (C) and (D) only
(4  (B). (C) and (D) only

A W Tope S 9 13 amrive Fefafag 1 @ f st w fed Hel & waea 1 arew ¢

Tehdl 27 6dl +ig sfim Hifvm)

(A) T % o ey geew @ T B
(B)  F92 i alrh ¥ FE T=EE

(C) wewa | i

(D)  Fv1 arerft 4 s3ergdl

4= Teu mu Rereal 0 9 & 39 % 999 il
(1) F&d (A), B) 3R (C)

2 Fbd (A), B) 3N (D)

(3)  HAA (A), (B), (C) 3l (D)

(4) %ad (B), (C) 3k (D)

[Question ID = 1572][Question Description = Q62_Commerce_25NS$2_SHAAN_NOV21]

1. 1 [Option ID = 6285]
2. 2 [Option ID = 6286]
3. 3 [Option ID = 6287]
4. 4 [Option ID = 6288]

Correct Answer ;-
e 1 [Option ID = £285]

63)

Which of the following income 1s generally chargeable under the head of income from other

sources?

(A) Income from subletting house property
(B)  Director fee

(C) Ground Rent

(D)  Agricultural Income from outside India
(E) Insurance commission

(F)  Income from sale of securities

Choose the most appropriate answer from the options given below:
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(A)
(B)
(©)
(D)
(E)
(F)

)
2)
(3
€

(A)
(B)
(©)
D)

1
2)
(3
4

Correct Answer -
e 1 [Option ID = 6289]

(&)
B
(©)
D)
(E)
(F)

(A), B), (D). (E) only

B). (C), (D). (E), (F) only
(4): (B). (C), (E), (F) only
(4), (B), (C). (D), (E) only

frfafiaa § -t o wmra: ‘o g@iEl § o1’ ue % stava yae 27

T8 Hof ) - FE B I 3719
e W

i et

WHd o g o SN 9 3
EiLIER e
gfefeat & fasea | v s

= Tou e faseedi 0§ 9a8 9w I H 95 I -

w9 (A), B), D). (E)

®acl (B), (C), (D), (B). ()
%99 (A), (B). (O), (E). (F)
*9e (A), B), (), D). (B)

[Question ID = 1573][Question Description = Q63_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6289]
2. 2 [Optien ID = 6290]
3. 3 [Optien ID = 6291]
4. 4 [Option ID = 6292

64)  Which of the followings are included in person under section 17(1)?

A Hindu Undivided Fanuly (HUF)
A company

A firm

An individual

A local authority

An association of persons

Choose the most appropriate answer from the options given below:

(1)
(2)
(3)
(4)

(A). (C). (D). (F) only
(C). (D). (E). (F) only
(B). (D). (E). (F) only
(&), (B). (C), (D). (E) and (F)

qir 17(1) % it Frafafas § @ fed safeq o wfifaa fen s 27

Afavrtom feg wfiam (HUF)
AT

e (FH)

=afga

prepp
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(F) =afaaat = q9

Hr= fau o forpeTt § © T SUgd SR W TEA ST

O w4 A), ©). O). @)
2 =4 (C), (D), B), (F)
(3) =@ @), (D), ), (F)
4 &), ®) ©). (D), (B) 3R (F)

[Question ID = 1574][Question Description = Q64_Commerce_25NS$2_SHAAN_NOV21]
1. 1 [Option ID = 6293]

2. 2 [Option ID = 6294]

3. 3 [Option ID = 6295]

4. 4 [Option ID = 6296]

Correct Answer ;-

e 1 [Option ID = £293]

65 ; . ; ;
) The exemption with respect to HRA 1s based upon the following factors?

(A) Rent paid

(B)  Place of Residence
(C) Dalary

(D) HRA Received

(E)  Fair Rent

(F) Market Rent

Choose the most appropriate answer from the options given below:

(1)  A.®). (). (D)only
2) (A, ©. D). (F) only
3  A).®B). ), (F)only
4  (A&). ®B). E), ) only

e fatran wd ¥ w2 efaRaa seml w s 2
(A) g e T femEn

®) Tram e

(C)

(D)  9Td Hhr feoRaan ws
(E) 3faa foemn

(F) SR e

= feu mu forepedi § § wEE IUET IR H T HIGC

(1) %9 (&), B), (©), (D)
(2) %9 A), (C), O). B
3) 9 (4), B). (C), (F)
(4 %9 (A), B). (E), (F)
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' [Question ID = 1575][Question Description = Q65_Commerce_25NS52_SHAAN_NOV21] Your Personal Exams Guide
1. 1 [Option ID = 6297]
2. 2 [Option ID = 6298]
3. 3 [Option ID = 6299]
4, 4 [Option ID = 6300]

Correct Answer ;-
a 1 [Option ID = £297]

=0l Match List I with List II :
Last I Last IT
(A) International finance corporation Iy 1944
(B) International Development dn 1967
Association
(C) World Intellectual property (II) 1956
organisation
(D) International bame for reconstruction (IV) 1960
and Development
Choose the correct answer from the options given below:
@ @-4av, -0, (© -Jdn @O - Jdh
2 @-3a. B -a), O -@O @O - JdD
(3) @A -dn. & -dan, © -av. @O - @
(4) @A -dn. B —av). © - Jadn, @O — @D
gt 1% 91 g9 11 %1 faem i .
g 1 T 11
(A) TS BIFTE HLIRI @ 1944
(B) SeCHIF o CHifhuas an 1967
(C) q SCFY3IA T STRAHIENIH (11D 1956

(D) IS 9% R fwedA 0g Saaque av) 1960
91 feu o femedi o @l 3w w1 =99 fifdw

B WG-av, B -@ (© - dn @O - dh
2 M-I ®B;B-dv. ©-0. @O -db
3 @-dn, @ -d3dj, © - av, O - @
4 A-dn, ® -3adv, © - aj, @ - @O

[Question ID = 1576][Question Description = Qé66_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6301]

2. 2 [Option ID = 6302]

3. 3 [Option ID = 6303]

4. 4 [Option ID = 6304]

Correct Answer ;-

e 1 [Option ID = £301]

67)
Match List I with List I :
List I List IT
(A) Bonus shares () Inwvitation to existing share holders to

purchase additional new shares
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(B) Demat shares (IT) Issue is made to existing members free
of charge
(C) Right issue (II) Shares issues by a company to its

employees/directors at a discount for
providing know-how

(D) Sweat equity share (IV) Shares 1n electronic form

Choose the correct answer from the options given below:

1 @W-d. ®-adv. O -0O. O - Jdl
2 @»W-m ®»-0O ©O©-.a O -awv
3 @W-Iv), @B -dadh, ©-4ad, O -d

@ @}-av., B -0. © -d. O - dh

= 1% i g I1 &7 faem i
g 1 it

(A)  F99 39 (D) 9AUF IR+ sfaiEa T3 o9 @led &5 smiEy

(B) el aw AD aau[ wee # Feyes Feima e s 2

() Ffr i AID el Fofi g R wfertel/fFeasl B SRwd
(A-T1%) TgH A % e gg = Frifia a1

(D) =\ HEdl (&2 3faadl) s AV) TR B9 9e 9T

#fra feu o fosredi @ v I = w99 Fifde .

1 @-a. @ -adv. © - @O, (@O - dh
@ @W-a. ® -0. © -Jdh, O - av)
@ @W-av, & -dn. © -Jdy @O - @

@ @-m, &-0 (©-Jad. @O - Jdbh

[Question ID = 1577][Question Description = Q67_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6305]
2. 2 [Option ID = 6306]
3. 3 [Option ID = 6307]
4, 4 [Option ID = 6308]

Correct Answer ;-
o 1 [Option ID = £305]

s Match List I with List IT :
List I List IT
Objectives of business firms Economists
(A) Long-Run Survival (). Marns, Robin
(B) Sales Revenue maximisation (I) Wilhamson, D.E.
(C) Firm's Growth Rate maximisation (III) Rothschild. K W.
(D) Managenal utility Function (IV) Baumol. W.J.
maximisation

Choose the correct answer from the options given below:

1y @W-adh. & -dadn © - av. O -0
@ @-av, @\ -3ad. © -dh @ -D
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(3) (A-TDH, B -daV), () - O, @O - dD Your Personal Exams Guide
@ @A-a. @ - dbh, © - d. (@D - av)

= 1% 9 gt 11 6 e =it

T 1 (e 6 % w2e) T IO (v
(A) e Sasitiaal (D) #Af, =
(B) Topa w=re = sifepan = (I Tatermama, =is.
(C) w4 H Fhg @ = AfeeRad Hen D) TATETS, +.5509,

(D) v s wwH # ol w1 (IV) &iEid, S

i fou o foweal @ w8 SR w1 T e

1 @-dadn. @® - dh. © - av). O - D
2y @-av. ® -Jan. (© - dn, O - @O
3 @-dn. @ -av. © -O. @) - d)
4 @-dn. @& - dn, € - @O. @D - av

[Question ID = 1578][Question Description = Q68_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6309]
2. 2 [Option ID = 6310]
3. 3 [Option ID = 6311]
4. 4 [Option ID = 6312]

| Correct Answer ;-
e 1 [Option ID = £309]

69)
Match Last I with Last II :
List I (Methods of Inventory Control) List IT (Explanation)
(A) JIT system (), ' Divide the items into the categories in the
descending order of their usuage rate.
(B) ABC Analysis () Divides 1tems 1ntc categories in the
descenting order of their critical use.
(C) FSND Analysis (III) Inventory arrive to the manufacturing sites
just few hours before they are put to use
(D) VED Analysis (IV) The items of inventory are classified
according to value of usage.
Choose the correct answer from the options given below:
(1) -0 B —-dd. © - dDh, @) - av)
(2) A -dDH, @& — dh), © - av), @O) - @D
(3) A -dD, B) - dAVv), ©) - @O. @O - dD
4 @-d). B -dh © -d @O -0
A 1% "y = I frem fifs
= I (3 s & fafeen) = 11 (=)
(a) JIT fren @D TGAT H T TI @ h U W WA FA 4 v
gyofierd
(B) ABC faweiam (A <GS F Fh TEEQy FEW H AR W RAva wAvfiga
HIATL

(C) FSND faveiaw D) |WE-F F@AE FOEE R IR % UE $9 ue 9E
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2. 2 [Option ID = 6314]
3. 3 [Option ID = 6315]
4, 4 [Option ID = 6316]

Correct Answer ;-
e 1 [Option ID = £313]

fafrmior wore o wg=eh 21
(D) VED faveum

et v 21
49 feu v fa=redi | wE I w1 =99 Hifao
(1) A-O. & -dh, © - dIh. O - dV)
(2) A -1, @& —dn. © - av). O — @D
(3) A-dD. B) -dav. © -O. O —JdD
4) A -av), @@ - dIn. ©) - {an, @O - @D

@AV) amEE-gH A gl B P I9E g % NEn | Fffea

[Question ID = 1579][Question Description = Q69_Commerce_25N$2_SHAAN_NOV21]
1. 1 [Option ID = 6313]

prepp

Your Personal Exams Guide

Match List I with List IT :
List I List II
9
&3 Probability distribution afl o= jt-a
(B) Binomial distribution ID o= \f > plx — pi)?
(C) Hyper geometric distribution (II) o=.np
5 . i i _ N 9 N —n
(D) Uniform distribution (IV) o= \/ n[ J ( N ) ( N1 J
Choose the correct answer from the options given below:
(1 A —-{1n. &) —dadn, © —-av). O - @O
(2) (A)—(ID). @& — dIh, ©) - DO. @Oy - aV)
(3 A-In, ® - @O. (© - amn, O - av)
4 A-@O. G -0d. (© -Jdn @O - 3dv)
= 1% " = 11 &1 e fifee
g I T 1T
(A) Hrera faa O o= I ;)2
® foug ¥ @@ o =px -’
(C) =3 Ao T M) ¢ =+ npq
S - [
D) THHHH av) o ‘j n{ iy e

4= few mu faeedi @ ) S == Fifu

1 @-Jadn. @) — dIb,
2 @A-an. @ — dl,
@ @-am. @ - O,

e -av. O -0
e -O O -av
(C) - dip, @) - AV)
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[Question ID = 1580][Question Description = Q70_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Optien ID = 6317]
2. 2 [Option ID = 6318]
3. 3 [Option ID = 6319]
4. 4 [Option ID = 6320]

Correct Answer ;-
e 1 [Option ID = 6317]

71)
Match List I with List I :
List I (Organmisational Design) List IT (Features)
(A) Learning organization (M  Flexibility in the structure or Lack of structure

(B) Spaghetti organization (I) Linking of separate parts of the same orgamsation
or networking of separate organisations to
accomplish a common goal.

(C) Fishnet orgamization (I} The abihity to continually change structure and
mnternal processes to conform to feedback with the
environment.

(D) Network structure (IV) Flexible, adaptable, rearranges itself quickly while

retaining its inherent strength

Choose the correct answer from the options given below:

1 @-Jdn, ® -3a, © -a), O - D

2 @A-an ®-@O (© -a). D) - dD)
& @W-O0 ® -4a) © - Jdn, O - dJD
@ @W-am. ® -0 © -0, O - JD

Tt I =i ge=il 11 &1 e $ifso

=t I (wshe i) ¥ 11 (fermiman)

(A) FAfm d@nee @O TEAH T A99 G 6w

(B) T wIA D TUE WS F AT YU FSA] FEE g9H
i iuiec et Race fealercicll

(C) T v (II) =T & AR 9iEdT &6 Iraar 31 A
wfern afdw % Wy vfagfe o w8 & fou

(D) FAH FET AV) T, WU FE AP, THH FdHfEd AR w
SR HTd g G @ 3R il w5t 21

fra few o faredi 9 ) 39 =1 w9q fifde -

1y @-An ® -4y © -av. O -0

2 @@W-dnp B -0 ©-av. @O - db
3 @W-O @®-av). © - dn @O - adb
@ @W-dp, @\ -0 (©-av, @O - dIm

[Question ID = 1581][Question Description = Q71_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6321]

2. 2 [Option ID = 6322]

3. 3 [Option ID = 6323]

4. 4 [Option ID = 6324]

Correct Answer ;-

e 1 [Option ID = 6321]

Match List I with List II :
Tast I Tast IT
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&)
(B)

(©)
(D)

Hedgers

Financial derivatives in India

Arbitrageurs

Commodity future in origin

@
ID

(III) Commercial producers

Iv)

Osaka

Increased volatility

Riskless profit

Choose the correct answer from the options given below:

(1) A-O. B - av). © - dn. @) — {dIn
2 @G-3n @ -3adan, © -avm, O - O
B @-av, ® -dn ©-O. O —-dn
(4) A-dn. B - O. (©) - dh. @O — dV)
g 1% " g=h 11 faem fifsw
T I = 1T
(a) wiiere (F9d) () A=
(B) 9rd ¥ fafra Siafea M = gt S
(C) HAawauHed! (ID) arfuf=re IaeH
(D) =HuIfEd R =1 Igua V) it Wa oy
f= feu Mo faeedi § W IR 1 A FIf
(1) A-O. B -av). «© - dadn. O — Jd1b
(2 @A-n. @ -Jadp, © —-av. O - O
@ @A@-aw, ®B-Jdn © -0 @O - Jdn
(4) A-dn. ® - @O. (© - Jdm. O — dv)

[Question ID = 1582][Question Description = Q72_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6325]
2. 2 [Option ID = 6326
3. 3 [Optien ID = 6327]

4. 4 [Option ID = 6328

Correct Answer :-

e 1 [Option ID = 6325]

Match List I with List II :

A
(B)
<
(D)

Tast I

(Advertising Agency in 2020)

O&M (Ogilvy and Mather)

Me Cann Erickson

Trikaya Grey

JWT Hindustan Thompson Associates

(D
(D
(ILL)
(IV)

Last IT
(Brand)
Mastercard
Nestle
Cadbury

Proctor and Gamble

Choose the correct answer from the options given below:

(1

N

A)y-dbn. B) - dn. (©) -

fAY _TIM MY

i

oy pr—

(IV).

Ty

(0)

e —

D

I

prepp
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& @-am @ -adav, © -0, @O - d
@ @W-a. ® -dan, ©-@O O -

=l 1% o g 11 % fuem ifo
g I (fasmam et 2020 1) gl 1T (372)
A& # we w (Afed weg 2w) O AR
B) % FA I e
(© Fpra (II) eah
D) < ey & fagmm aimes wifiee AV) W ws e

fra feu mu fosedi | W 39 w1 w99 il

O @-ap ®-a. © -a. O -0

@ @-@n. ® -®@. (€ - a). O -
@ @W-@m ®»-a. © -0 O -d
@ @-a, ®-dan ©-O O -

[Question ID = 1583][Question Description = Q73_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6329]
2. 2 [Option ID = 6330]
3. 3 [Option ID = 6331]
4. 4 [Option ID = 6332
Correct Answer ;-

e 1 [Option ID = 6329]

Match List I with Last I :
ListI Last I1
(A) Actual Delivery (D Delivery of means of obtaining possession of goods
by the seller to the buyer
(B) Constructive Delivery (D) Physical handing over of the possession of the
goods by the seller to the buyer
(C) Symbolic Delivery (III) Voluntary transfer of possession of goods from
seller to buyer
(D) Dehvery (IV) Acknowledgement by a third person in possession
of goods to hold them on behalf of and at the
disposal of the buyers.
Choose the correct answer from the options given below:
1 @G-av, & -O0O. © - dn. @O — d
@ @-am. ® -av, © -0, @O - JD
@ A@-0O G -Jdn © - av. O - dIh
gl 1% =y gt 11 1 e it
T 1 T 11
(A) awatEF gt (I)  Taskdl GRT 261 o1 T7el =1 @51 IS % HTEAH 1 WgH 4]
(B) TEACTH gugH (ID) feben gwr shan =i =rel % Foa 1 Wics gIah

(N T T TN B o 5= 7= T = = = e s
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D) [y (IV) A/ W Foal T A ol safda grn renitea 6 a8 shar i

AR T it 3o fow me = wEm
=t o e et @ wEl S % v i

1 @-av. @& -@O. © - dn. O — {ID)
2y  @-4adn. @B - av. © - @O, @O - db
3 @W-O. @& -dDn. © - av. @O - {O)
@ @-dah. @& - Jdn. © - av. O - @

[Question ID = 1584][Question Description = Q74_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6333]

2. 2 [Option ID = 6334]

3. 3 [Option ID = £335]

4. 4 [Option ID = 6336]
Carrect Answer :-

» 1 [Option ID = 6333]

75)
Match List I with List II :
ListI List II
(A) Section 80 EE () Deduction in respect of rent paid
(B) Section 80 GG (I Deduction in respect of certain
donations for scientific researches
(C) Section 80 GGA (III) Deduction iIn respect of interest on
loan taken for residential house
(D) Section 80 E (IV) Deduction in respect of payment of
Interest on loan tfaken for Higher
Education.
Choose the correct answer from the options given below:
1 @-4a. ®\ -av., © -O. O - dh
(2) @-n, ® -O, (© -Jdp @) - dv)
(3) @A-3an. @& -@O. © - av. @O — dp
@ @A@-a. & -av. © -dadn, O - @
= I e g 11 frem $ifge
A I SCip
(A) 1 80 EE @O EE e e R % e § wdd
(B) 9 80 GG AD A vy 2 a9y gEi % g9y § w3
(C) 9r 80 GGA (D) a8 & waH 2g e 70 369 9 09 < W99 H HH]
(D) 9 80 E @AV) sad e 2g fore e e W e $ way d s
i fou e fosent U Tl 39w 9 Hifw

O @W-a ®&-adv. © -0, O - (1m
2 @W-dh ® -@. (© -4aj @ - av
3 @-dn, ®-O (©-advm, @O - adp
@ W-Im ®»-aV. ©-dn @O - O
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[Question ID = 1585][Question Description = Q75_Commerce_25N52_SHAAN_NOV21] Your Personal Exams Guide
1. 1 [Option ID = 6337]

2. 2 [Option ID = 6338]

3. 3 [Option ID = 6339]

4, 4 [Option ID = 6340]

Correct Answer :-

& 1 [Option ID = 6337

Arrange the following countries in the ascending order of their contribution to the WTO
budget 2020:

(A) China
(B) Japan
(C) Germany

(D)  United states of America
(E) United Kingdom

Choose the correct answer from the options given below:

(1) (A, B). D). (E) and (C)
2 D), A), (B). (E) and (C)
3  E,®.©).A) and D)
4 (D), A). (B).(C) and (E)

frafafiaa o &1 sy A 301 992 2020 o T JTEH H ITAR ITRE F9 T T

(A)  H=H
(B) SIMM
(C)

D) W TS I
(E)  ¥arses fhmsn

fr feu o faeredi 4 @ w39 1 =9 difsa .

1 @.®. D). E) IE
@ (D), &), ®), ®) WO
3  (®).®), (). A) I (D)
@ (D), (A, B). () 3 (E)

[Question ID = 1586][Question Description = Q76_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6341]

2. 2 [Option ID = 6342]

3. 3 [Option ID = 6343]

4. 4 [Option ID = 6344]

Correct Answer ;-

e 1 [Option ID = 6341]

The assests of the Partnership firm. including any sums contributed by the partners to make-
up deficiencies of capital at the fime of dissolution, shall be applied in the following manner

and order:

(A) In paying each partner rateably what is due to him for advances as distinguished
from capital.
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(B)
(©)
(D)

prepp

In paying to each partner rateably what i1s due to him on account of capital. Your Personal Exams Guide
In paying the debts of the firm to third parties

Dividing among the partners in the proportion in which they were entitled to share
profits.

Choose the correct answer from the options given below:

(1)
(2)
(3
(4)

©). . ®). D)
(C). B). W). (D)
(A), (B). (C), (D)
B). (©). &), D)

gretertt wfassm &t afgufeet =, fd fraca & wra G 6w w3 F fae wed go ames 6
¢ wivei wfiaferm 8, Fafafaa ver a sa 3 v=m 2m

4)
(B)
(©)
D)

9ol B = e sifip i =6 3t SEeR @ 5% SHER YaE S

Ul & I T I & B WEER B g & FTHR YIE S
3 vefl Hl TS 6 H/ON F PEH HE
URIEH % o= 38 FUE H fmiaa & T o o & @0 9 % % gher 3|

i fee U fawedi § o il I == I

(1)
(2)
(3
@

(C), (&), (B), (D)
(©). (B). (A). (D)
(A, B). (C). (D)
(B), (). (A). (D)

[Question ID = 1587][Question Description = Q77_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6345]
2. 2 [Option ID = 6346]
3. 3 [Option ID = 6347]
4. 4 [Option ID = 6348]

Correct Answer ;-
e 1 [Option ID = £345]

Arrange the following market structures in the increasing order of the price elasticity of

products:

(A)  Perfect competition

(B) Monopoly

(C)  Monopolistic competifion
(D) Olgopoly

(E) Duopoly

Choose the correct answer from the options given below:

(1)
(2)
(3
C)

(C). (D). (E), (B). (A)
(B). (E), (D). (C). (&)
(C), (E). (D). (&), (B)
&), (C). ). (B). B
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A) ol wferegsd

(B) THITHR

(C) it wfaoaai

D) IR

(E) zaiuER

= fev 0 faweql O 9 @l I w1 ¥\ Hiu .

L (©). D), E), (B). A
(2) (B). (E), (D), (O). (&)
3 (O.E. D). A). ®
4 (A).C). D). E). B
[Question ID = 1588][Question Description = Q78_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6349]
2. 2 [Option ID = 6350]
3. 3 [Option ID = 6351]
4. 4 [Option ID = 6352]
Correct Answer ;-

» 1 [Option ID = 6349]

The cash flow approach to assessing debt capacity involves the following steps; arrange these

steps In a correct sequence:

(A) Specify the tolerance limit on the probability of default.

(B) Estimate the probability distribution of cash flows. taking into account the projected

performance of the firm.

(C) Calculate the fixed charges by way of interest payment and principal repayment

associated with various levels of debt.

(D)  Estimate the debt capacity of the firm as the highest level of debt which is acceptable.

Choose the correct answer from the options given below:

1 D), (), A). B)
2 A 3. ©). D)
(3 B, ©C). M. W
4 D, ). ©). B

T &FTAT STHEF 29 A WATE AP A FRARATEa R0 T 3| 5 SO WAl F W SAaie i
(A)  TF TH H TEET W TgTa 1 1 " GRtee w7

(B) W F SIATHG FRFNGA B SIF T T g0 ol T2 = FTad o & e He)
(C) =R % &l T ¥ T8 = YaW SR g [YTaE % W 8 g WIS e w0

(D) 6 % Soaou T W 5 1 F BH HI /0 AT T e B

A=l feu T faemedl O o wat A w0 =ad iy
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{1) (D). (C). (A). (B) Your Personal Exams Guide

(2) A B).C). D)

3) (B).L(C). D). &)

4 (D). @A©O. B
[Question ID = 1589][Question Description = Q79_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6353]
2. 2 [Option ID = 6354]

3. 3 [Option ID = £355]
4, 4 [Option ID = 6356]

Correct Answer ;-
e 1 [Option ID = 6353]

Arrange the following steps of formulating research proposal in a logical sequential order:

(A) Defining Research problem.
(B) Formulation of Hypothesis.
(©)  Review of literature.

(D)  Collection of data

(E) Research design

Choose the correct answer from the options given below:

1 (A).B). ), (D). (E)
2 ). E), B) ©). D)
(3 (A (E). (C). (D). (B)
@ &) (O, B (E), D)

My wea| & o & Aafafaa = =1 v afds w0 4 srafér $ite .

(&) 3y waen & aienfia
(B) W&k 1 {Amim

(©  wifgea <1 wefian

(D) ARG BT HHE

(E) ity 10y

#= feu o famwedt 4 @ v ot = 531 Hifsu .

D @).B®. ). D). (E)
@ . E. B. ). D)
3 (@A) [E). (O). (D). (B)
49 (&) (©), (B), (E), D)

[Question ID = 1590][Question Description = Q80_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6357]
2. 2 [Option ID = 6358]
3. 3 [Option ID = 6359]
4. 4 [Option ID = 6360]
Correct Answer ;-
| e 1 [Option ID = 6357]
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Axrange the following stages of the process of orgamizational change in the sequential order :

(A)  Detailed consideration of the proposed change

(B) Collection of detailed information and development of alternative approaches in

relation to the problem or issues
(C)  Ewvaluation of various alternatives and framing a proposal
(D)  Vocahization of the need to change

(E) Search for the main cause underlying the symptoms encountered

Choose the correct answer from the options given below:

1B D). E). B). A, C)
@ D), @A), E). B, O
3 A, E).D).©O), B
@ (B, (E) D). A

G Iitagad & wfspan = faifea =N 1 Frear ssafeaa &t .

a) v wRad w fawsm famn

B) TS FYE He & "R 1§ dRiE gfeemv fomiRa s iR fawga g=1 wuEm
(C) faft= fasedi &1 Yo 3 ve Ta@ 4R FE

@) ufgda & svEvEFa % g1 § el

(B) W e & Jiafda we srvl 6w
et feu o faepedi § & Wl 39 = hifsra

B @D, E), ®B). &), ©C)
@ D). @A), E.®. O
3 A E.D,.©). B
@ B (E), D). A),©

[Question ID = 1591][Question Description = Q81_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6361]
2. 2 [Option ID = 6362
3. 3 [Option ID = 6363]
4. 4 [Option ID = 6364
Correct Answer ;-

e 1 [Option ID = 6361]

82) ; ; ; : o S
Arrange the following steps, 1n a logical sequence of debt recovery by financial institutions

through Debt Recovery Tribunals (DRTs)?
(A) Restrain him from dealing with/disposing of the concerned assets/properties pending
at the hearing of the application.

(B) Direct him to disclose particulars of properties other than those specified by the
applicant bank.

(C) Show cause within 30 days as to why the relief should not be granted to the bank.

g ) MGy, PRSI, DRSS - NN 1, Oy P ORReY L || S IO [, [Py
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1 B. A0
2 A).3B).©)
@ B, ©O),. &)
@4 (©). B, &

0 Fgell 2Afusel (DRT) % megm & foxfta sxensii gra = =56l % Frofafem =i = aifdbs »n

T Faied 9

(&) W wEivE giEat /et § SRiEE 3 32 gaH W U 0l 90k 6 e -93 6l gran
el

(B) Eck/da% gru ffese gofwl & aifafem s wufei 6 fafire sl @ gare @ & fae
3 Fgm g
(€) 30 fedi & 3igt HRW FarH &6 % I g #=i 3§ 9w

I feu o famedi § @ 9 I & ==2A BNy

(D (B). (A). (C)

@ & ®, ©)

3 ®B.O. W

4 O, 6B.®
[Question ID = 1592][Question Description = Q82_Commerce_25N52_SHAAN_NOV21]
1. 1 [Optien ID = 6365]
2. 2 [Option ID = 6366]
3. 3 [Option ID = 6367]
4. 4]

COption ID = 6368

' Correct Answer -
e 1 [Option ID = 6365]

Arrange the following steps of market feasibility study in the sequential order :

(A) Based on the cost and anticipated sales revenue, calculating the break-even price and
the sales volume.

(B)  Forecasting sales, based on demand estimation and competitive analysis.

(C) Estimation of demand in the target market. of different price levels.

(D) Estimating the cost of serving the market segment.

Choose the correct answer from the options given below:

(1) B.©), D).
2 (0).®). D). @A)
(3)  (B). M), (A), (C)
(4) (©). (B). A). (D)
TN SHAERAT I & fAifhd =l F HuER sHafer

Q)  «rma AR FFEta ekl e o anaiEa wn faeay fawg SR Tk oitamn <6 wvET #d g
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® for gEigm, uin seem sin sl favemm w snenfa
(C) fexa aom | o 31 aH, = g w1 w

(D) IR @ i navadd Yfd i @t &1 HEH
1 fau e faewedi 4 ® wdl S @ == i

1O B 0.0 W
@ (O, ®B), D), &)
3 B D). Q).

@ (O, 3. A).D
[Question ID = 15923][Question Description = Q83_Commerce_25NS$2_SHAAN_NOV21]
1. 1 [Option ID = 6369]
2. 2 [Option ID = 6370]
3. 3 [Option ID = 6371]
4. 4 [Option ID = 6372]
Correct Answer ;-

e« 1 [Option ID = £369]

84) _
Arrange the following procedure for the grant of patent in a proper sequence :

(A) The true and first owner shall apply in form I and legal representative of true owner
shall apply in form II

(B) A complete specification shall be filled with a fee of Rs. 50/- within 12 months from
the date of filing of application

(C) The first inventor of the work who claims to be true and first owner or his legal

representative

(D)  For each invention separate application for a patent shall be made

Choose the correct answer from the options given below:

O A, D). ©O), B
@ (O, D). &), B
B B, A, D), ©
@ ®.0).O.8

U YgH w6 Frefaiiaa wiea i agied HUTEan S

(A) IRdfa® 9 yum @rfi WET 1Y e e AR arafss @l & fafes gfafy s O
1A M|

B e fafy & 12 wg % et 50 T3 % wo F wy wyYl fafdsm v wmen)

(C) ardfas 2 P T F AN, HE B VW FAuh R gy @l s uw s gt

(D) SF Y0 S 992 & e sem g snden T smom)

#a fer mu fgwedl O 8 ot 3o =1 w1 hifdw .

1) (@A), [D), ©), B)
(2) (O, D), (A), (B)
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3) B, A) D), O
@ B, D0 A

[Question ID = 1594][Question Description = Q84_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Optien ID = 6373]
2. 2 [Option ID = 6374]
3. 3 [Option ID = 6375]
4. 4 [Option ID = 6376]

Correct Answer ;-
e 1 [Option ID = 6373]

Sequence the steps for computing depreciation in income from Business and Profession :

(A) The written down value of each block as on the last day of previous year
(B)  Find the value of each block at the beginning of each year

(C)  The money received along with scrap value, if any in respect of the same blocks, which

are sold/ discarded during the year

(D)  Assets required during the vear in the respective blocks to which the new assets
belong

Choose the correct answer from the options given below:

1) A). B.0). D)
2 @®.0)n0. W
3 @). ®B). D).
@ @O.®.©0.W

UM T U3 U 24 gl 31 1 g™ ) 0 & =10 h whee i

@ fred arm & sifan fea & amfa %0 sfafea 1o

@) Ty H Ry o g A e 96

© = % dm S weaf A=h /R I R, 37 gey d sefie e, 3fe B 2, % 91y e o
(D) =¥ % SR F91: 34 Al & fore, simawass ittt me 78 uimafert detim 2 2

H9 feu o famedl 0 @ 9 39t =1 973 Fifvu

1) @.®.©C). D)
@  B®.D),.©). @A)
3 (A, B). D). ©)
@ D.®). (O, &

[Question ID = 1595][Question Description = Q85_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6377]

2. 2 [Option ID = 6378

3. 3 [Option ID = 6379]

4. 4 [Option ID = 6380

Correct Answer :-

e 1 [Option ID = 6377]
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Given below are two statements. One is labelled as Assertion A and the other i1s labelled as
Reason R :

Assertion A : Foreign investment is playing an increasing role in economic development and
contributes to a significant share of the domestic investment, employment
generation and exports.

ReasonR: Substantial increase in the magnitude of capital inflows have remarkably
improved the balance of payments and foreign exchange reserve position.

In the hight of the above statements, choose the most appropriate answer from the options
given
below:

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct and R 18 NOT the correct explanation of A
(3) A is correct but R is not correct

(4) A 1s not correct but R is correct

A 2t Fem BE T 1 U AT (Assertion A) ¥ w9 W fafaa 2 9 gm0 swh FRW (Reason R)
=

afTFeA A ¢ Tl frer smitds fasem o srfeemtos i Fake = @1 2 R ot Faw, TR gee |
Fata & gt ArRH = @ 2

FOTR: T % o1 WaE % fowar § g% greyl gig 7 9ad Sged SR et ggr vew o feuta |
SR gaw = 2

ST FRF F 3T °, {9 Gy T TEew ¥ W e IUFh ST H "I i)

(1) A 3R RaH wé £ 3t R, A wét = 2
(2) A SRR T 2 IR R, A oot =men 7 2
(3  Awd <t R w9 T 2

4 ATHTE2aFE R

[Question ID = 1596][Question Description = Q86_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6381]

2. 2 [Option ID = 6382]

3. 3 [Option ID = £383]

4, 4 [Option ID = 6384]

Correct Answer :-

a 1 [Option ID = £381]

87)

Gaven below are two statements:

Statement I : If firms are disproportionately powerful, the market leader makes the first
move and captures two-thirds of the market share. while the follower firm gets
only a third of the market share.

Statement II ; Oligopohst firms do betier by cooperating than following its dominant
strategy.

In the hight of the above statements, choose the most appropriate answer from the options
given below:
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(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement I1 are incorrect

(3) Statement I 1s correct but Statement II is incorrect
(4) Statement I 1s incorrect but Statement IT 1s correct
= 7 %o fow w2

FFI ;AR B W INaE F9 ° wGa el 2, 9 AR Fl el B AT 9ea SR % g-9Es
e w s st At R SatE sl o dew aem % o oo R w st

e IR 2|

AL gl (vas) OHild oA S e geETens Aifd smaE 8 sieritesies a1 w1 o sga
= 2

SIE FIA = A 4, 7 G T w1 ¥ we I9gE T % 94 i)
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[Question ID = 1597][Question Description = Q87_Commerce_25NS$2_SHAAN_NOV21]
1. 1 [Opticn ID = $385]

2. 2 [Option ID = 6386]

3. 3 [Option ID = 6387]

4. 4 [Option ID = 6388]

Correct Answer ;-

& 1 [Option ID = 6385]

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reason R.

Assertion A : Mean deviation is about 80% of Standard Deviation.

Reason R:  The quartile deviation is about 2/3 of the Standard Dewiation.

In the light of the above statements, choose the correct answer from the options given

below:

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true and R 1s NOT the correct explanation of A
(3) A 1s true but R is false

(4) A 1s false but R 1s true

Hie 31 FUR TGn T B UF SAEHeE (Assertion A) F w1 # foiim ® af 5 9 Fuw (Reason R) %

N
|
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[Question ID = 1598][Question Description = Q838_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6389]
2. 2 [Option ID = 6390]

3. 3 [Option ID = 6391]
4, 4 [Option ID = 6392]

Correct Answer ;-
e« 1 [Option ID = £389]

89)
Given below are two statements:

Statement I : Capital market plays an important role in mobilising resources and
diverting them in productive channels.

Statement II : Capital market 1s a market where buyvers and sellers engage in trade of

financial securities like bonds. stocks, ete.

In the light of the above statements. choose the correct answer from the options given

below:

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement I are false
(3) Statement I 1s true but Statement II is false

(4) Statement I is false but Statement IT 1s true
+ T ®em 5w T 2
FF L TEEA W B CE A S 299 A gl SR Faeau gt 1 Fate e 2|
FAI: Yo 9K 97 99K 2 el shal o9 faskar i sfagiaai 99 aivs, @ie o1 & =aur 1

o 21 2l

I BT % AArs 3, = TG T SEeat 7 @ aed Suge s w0 = it

(1)  =eA I e I 2AT a8 2
(2) w1 &R II 5 e 2

(3) WM I WE 3, <t 5o I 7o 2
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[Question ID = 1599][Question Description = QB9_Commerce_25NS2_SHAAN_NOV21]

1. 1 [Option ID = 6393]

2. 2 [Option ID = 6394
3. 3 [Option ID = 6395]

4. 4 [Option ID = 6396
Correct Answer -
e 1 [Option ID = 6393]
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fraudulent misrepresentation under the contract act.

g0 ; ; : :
) Given below are two statements: One 1s labelled as Assertion A and the other 1s labelled as
Reason R.
Assertion A ; A, the owner of a ship by fraudulently representing her to be seaworthy
induces B, on underwriter to insure the shap.
Reason R : B can obtain cancellation of the policy. as 1t 1s a fraud on account of

In the light of the above statements, choose the correct answer from the options given

below:

(1) Both A and R are true and R 1s the correct explanation of A

(2) Both A and R are true and R 1s NOT the correct explanation of A
(3) A s true but R is false

(4) A 1s false but R 1s true

A <1 FoA E T E1 TF AR (Assertion A) F ¥4 § fafaa 2 9 g0 SU% FWW (Reason R) %
=95 ;

wAtepeE A Fhdl e = T A’ S8 o © ggpan ga = ATas B SE # s e A
it = )
FRUR ‘B’ uiferdt 1 fasaar weg @ opar § i Glaer faEm F e ey Taaedrl &

= =
=Fora Jq e 5l

SE FAUA  FATE 4, A for T e W ¥ ge 399 I # waA i)

() AR Rgm @ 3 3t R, A $ vt =3 2
(2 A@RREA T E ol R A F ud sawem T 2
(3 A= R T 2
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[Question ID = 1600][Question Description = Q90_Commerce_25NS2_SHAAN_NOV21]
1

. 1 [Option ID = 6397]

2. 2 [Option ID = 6398]
3. 3 [Option ID = 6399]
4. 4 [Option ID = 6400]

Carrect Answer ;-
& 1 [Option ID = 8397]
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Recuperating of the impact of Covid-19, India attained 13% growth boosted by investments in
the digital sector. Infrastructure and energy deals also propped up M&A deals in India. As a
result India could achieve 13% growth in Foreign Dimrect Investment (FDI) in 2020 Amidst
global collapse, China is the only other country that has shown remarkably high FDI growth.

An ‘Investment trends monitor’ issued by the United Nations Conference on Trade and
Development (UNCTAD) pointed out, global FDI collapsed in 2020 by 42% to an estimated
USD 859 ballion from USD 1.5 trillion in 2019.China and India were two major outliers in a
gloomy vear for foreign direct investment.

India achieved positive growth (13%). boosted by investments in the digital sector where the
investments continued, particularly through acquisition. Cross border M&A grew 83% to 327
billion. Infrastructure and energy deals also propped up M&A deals in India. India and
Turkey are attracting good numbers of deals in IT consulting and digital sectors, including e-
commerce platforms, data processing services and digital payvments. In terms of mdividual
nations in ICT and pharmaceutical sector, China was the world’s largest FDI recipient, with
flows to the Asian giant rising by 4% to $163 billion. High-tech industries saw an increase of

11% in 2020, and cross-border M&As rose by 54%.

“Although their investment activity slowed down initially in 2020, they are now set to take
advantage of low 1nterest rates and increasing market values to acquire assets in overseas
markets for expansion. as well as rivals and smaller innovative companies affected by the
Crisis.

Torg o T R s afdu i rarawy 3w O st T % s i

HIfE 19 % T9Ta ¥ IS WHST 914 9 gC 9rA 3 5 g 3 Fam o semn ame 13% B g @
WH Rl HAFETEAT 9 S wuEidl o i aRd W wA U U ggnn e 9fone e vea et e (v
Z %) % &= T ANa 2020 H 13% Fig W FR g dAfvaw faweaar & =, == @t o= <w g e
3gEE TF 2 A giG weRE Fi 2

=R 7 foee Fedt 9% TY % aen (3TEE) 3 Rl TaReEe 9% A F STER 2020 § dfras
THIIATE T 42% Hi e o8 &9 9% 2019 ¥ 1.5 Rfomm 9 sor & o2 9% sHA-a 859 faferm
sl srer @ 18| Tl wewer Fer % Frosmee o 8§ ara o = & o v st @)

Wi + fstodf am & Fam T aeE we T gig (13%) w19 S 5w g | favm w0 srfamree % s
e T @) Hw-wRE T SR U 83% i g% ST ;e $27 faferm Sw B T smm e 9 T
Tl © ft awa | v SR T gEEiil W Sen el YR ° T, T WS- WiewH, 32 TEER
Tt i et grm afin o wonfl o (s & 8, o= 9w § o W= @ £l o &
SR Wl & § SIF-3TE oF % T °, U W HEhE o0 W URSIeTE YTHHAl ¢ % F9 ° gHA ° oM
w1 S 5 AR 4% W aea 163 faferm s s1er 7w = denthE = § 2020 9 11% 6 afg
7§ i dmr-uitt wy s v A 549% $i 9ig g

w2t ST e TatEeE § 2020 % R § 7 3T, 99 3@ ¥ P o oW o SR 5o | gig #
oY 331 W T F fou wnp-wiE g A aiemtE % e @R T 9 Y9iea Sigel 3 oy

Which countryoutiined in the world in terms of FDI inflows in ICT and pharmaceutical

sector?
(1) India
(2) USA
(3) Israel
(4) China
AT 9wl @ 3 UEEiaTE Yare % Hedl # fava ¥ fpy 3w W ey waem @ R e
(1) WRd
2 3l
(3  =EE
@ =~

[Question ID = 2076][Question Description = Q91_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 8301]
2. 2 [Option ID = 8302]
3. 3 [Option ID = 8303]
4. 4 [Option ID = 8304]
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e« 1 [Option ID = 8301]

Read the passage and answer the question

Recuperating of the impact of Covid-19, India attained 13% growth boosted by investments in
the digital sector. Infrastructure and energy deals also propped up M&A deals in India. As a
result India could achieve 13% growth in Foreign Dimrect Investment (FDI) in 2020 Amidst
global collapse, China is the only other country that has shown remarkably high FDI growth.

An ‘Investment trends monitor’ issued by the United Nations Conference on Trade and
Development (UNCTAD) pointed out, global FDI collapsed in 2020 by 42% to an estimated
USD 859 ballion from USD 1.5 trillion in 2019.China and India were two major outliers in a

gloomy vear for foreign direct investment.

India achieved positive growth (13%). boosted by investments in the digital sector where the
investments continued, particularly through acquisition. Cross border M&A grew 83% to 327
billion. Infrastructure and energy deals also propped up M&A deals in India. India and
Turkey are attracting good numbers of deals in IT consulting and digital sectors, including e-
commerce platforms, data processing services and digital payvments. In terms of mdividual
nations in ICT and pharmaceutical sector, China was the world’s largest FDI recipient, with
flows to the Asian giant rising by 4% to $163 billion. High-tech industries saw an increase of

11% 1in 2020, and cross-border M&As rose by 54%.

“Although their investment activity slowed down initially in 2020, they are now set to take
advantage of low interest rates and increasing market values to acquire assets in overseas
markets for expansion. as well as rivals and smaller innovative companies affected by the
Crisis.

T Tu o @ s afdy i teagan 3@ w strenio Tee @ sw i

FIES 19 F TG § IR TR A9 UK 30 9RA 7 Soem & 1 Fem @ sem o 13% B glg R/
R F) HaEE 9 S wwstal | off wia § @ U3 v A gem Wen| ufone e yema B R (e
2 amg) % &9 § 9Rd 2020 ° 13% gig TE R | divas Teea & @, 9= & v s g 2 e
sge uE < et gfg w6 2

IR o fasm Gedt 9w U2 % geier (3Thae) g I el 9F Aidlel T SEw 2020 ¥ AfTas
UREIATE H 42% I TREE @mg @R 72 2019 ° 1.5 R2E il ger O ue 9 erEa 859 fafemm
TRy STer w7 TS| Taeeht wene Fermr % FRoemers ot wia o A f o v steard 3

a3 EEEE a9 Fom @ sem R T ghg (13%) | #N 3| om | fem w aifioem % i
tam S = - W sk T g 83% gig 5% ol w327 fefeEm sew 3w semw 9 St
gagital 9 it a3 vy &R gagial 0 GeR T 9w g gl e e S-aiheg wiewH, 3 TEEm
et 3R fsfoadia wam giza s s sk oiadia augi 4, s dom o augia 0 w 21wl
3T BT & W STeRT-STT §% < B H, TR 1 TR <% i+ TS Tt o ® 9 | g § wem
T 3R 951 A% 4% H 963 163 Teferma snrh e & T 3= et wme | 2020 § 11% i Al
3 it Pm-vifia ww ot v d 54% i gig g8

A ST Taw Tt 5 2020 % RY ¥ 7 ST, 99y 3@ 9 T e oW o 99K g9 § gtg #
oY 331 W Tear F fou wp-wiiE g A qiemtE % st AR S ¥ I9Ted Sigel @ oy

The author opines in the paragraph that which of the following has helped to acquire assets
1n overseas markets for expansion.

(1) Low interest rates and increasing market values
(2) low per capita incomes and high resources
(3 Attractive markets and overseas valuations

@ Governmental support and incentivization to promote cross border trade.

T W @@ < AAHER SR % o gug-uiiE i § aRamtgt & ataugn % oy eiatea 1 9
e warm foeh 27

(1) = =99 T ¥R 5 g 9K I5A

) = ufa ol s s o= geEE

(8) I W 9 R -TT qeEE
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[Question ID = 2077][Question Description = Q92_Commerce_25N5$2_SHAAN_NOV21]
1. 1 [Opticn ID = 8305]
2. 2 [Option ID = 8306
3. 3 [Option ID = 8307]
4. 4 [Option ID = 8308
Correct Answer ;-

e 1 [Option ID = 8305]

Read the passage and answer the question

Recuperating of the impact of Covid-19, India attained 13% growth boosted by investments in
the digital sector. Infrastructure and energy deals also propped up M&A deals in India. As a
result India could achieve 13% growth in Foreign Direct Investment (FDI) in 2020 Amidst
global collapse, China is the only other country that has shown remarkably high FDI growth.

An ‘Investment trends monitor’ issued by the United Nations Conference on Trade and
Development (UNCTAD) pointed out, global FDI collapsed in 2020 by 42% to an estimated
USD 859 ballion from USD 1.5 trillion in 2019.China and India were two major outliers in a
gloomy yvear for foreign direct investment.

India achieved positive growth (13%). boosted by investments in the digital sector where the
investments continued, particularly through acquisition. Cross border M&A grew 83% to 327
billion. Infrastructure and energy deals also propped up M&A deals in India. India and
Turkey are attracting good numbers of deals in IT consulting and digital sectors, including e-
commerce platforms, data processing services and digital payvments. In terms of mdividual
nations in ICT and pharmaceutical sector, China was the world’s largest FDI recipient, with
flows to the Asian giant rising by 4% to $163 billion. High-tech industries saw an increase of

11% in 2020, and cross-border M&As rose by 54%.

“Although their investment activity slowed down Initially in 2020, they are now set to take
advantage of low 1nterest rates and increasing market values to acquire assets in overseas
markets for expansion. as well as rivals and smaller innovative companies affected by the
Crisis.

Tom 1o wTerrer A s iRy SR AvavaT 39 OR AT SR @6 SR i

HIfE 19 % T9Ta ¥ ISEH @ 914 9 5¢ 9rA 3 SR g 3 Fam o semn amm 13% B 9 @
W Rl AFETEAT 9 S wuEidl ° St aRd W uA Ug Ul genn e ufone s yera et e (e
2 am2) F & 9 wrd 2020 7 13% 3tg wE R g Afvas Tram & e, 7 @ v o < g e
3gEIE TF 2 A giG weRE Fi 2

=R 7 fame Fedt 9% OF % ae (3TeE) g IRl TaReEe 9% A F STER 2020 § dfras
TESIATE ° 42% H TEe 315 & 77 2019 § 1.5 s Il Sor ¥ o2 7 SEHg 859 faferA
i SR TS| TRl werer T % P ot § awm ofk . & o v sttt A

w7 fefodm & § FEm O seEn U TR gig (13%) v i osw g | e W arfierge % s
e i @) H-wRE SR w o 83% FiG g% ST We $27 fafemm SR B T swmm e 9 T
Tl © ot awa | v SR T gEEiil % Gen et YR ° T, TR W3- WiewH, 321 TEEEO
et oik fSTdm gmam wiea amsd wowelt ot BREm a9 3, o= 9o § ausin = @ 2| omsE A
SR BT &7 B STF-3TET <7 F T °, U HehE o0 W URSIeTE YTAwdl ¢ % T ° g ° UM
w1 S a7 R 4% W aea 163 faferm sl ser 7w = dentiE = A 2020 9 11% 6 afg
7§ Sl dim-urlia v s v b 54% i a9t g

w2t ST e TatEeEl § 2020 % IRY °§ 0 T, 99 3@ ¥ P o oW ot SR ge | gig #
oY 331 W T F fon wp-wiE g A aiemtE % e dR T 9 Y9iea Sige! 3 oy

Annual increase /decrease in India’s annual FDI inflows and Global FDI flows, respectively

are:
(1)  USD 27 billion and USD 163 billion
@  +13% and —42%

(3) —4% and +11%

(4 Data not available
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(1y 27 fafergm iRl srer @ 163 faferam sl sren
@) +13% 3R -42%

(3)  -4% 3N +11%
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[Question ID = 2078][Question Description = Q23_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 8309]
2. 2 [Option ID = 8310]
3. 3 [Option ID = 8311]
4. 4 [Option ID = 8312
Correct Answer :-

e 1 [Option ID = 8309]

Read the passage and answer the question

Recuperating of the impact of Covid-19, India attained 13% growth boosted by investments in
the digital sector. Infrastructure and energy deals also propped up M&A deals in India. As a
result India could achieve 13% growth in Foreign Direct Investment (FDI) in 2020 Amidst
global collapse, China is the only other country that has shown remarkably high FDI growth.

An ‘Investment trends monitor’ issued by the United Nations Conference on Trade and
Development (UNCTAD) pointed out, global FDI collapsed in 2020 by 42% to an estimated
USD 859 billion from USD 1.5 trillion in 2019.China and India were two major outliers in a
gloomy yvear for foreign direct investment.

India achieved positive growth (13%). boosted by investments in the digital sector where the
investments continued, particularly through acquisition. Cross border M&A grew 83% to 327
billion. Infrastructure and energy deals also propped up M&A deals in India. India and
Turkey are attracting good numbers of deals in IT consulting and digital sectors, including e-
commerce platforms, data processing services and digital payvments. In terms of mdividual
nations in ICT and pharmaceutical sector, China was the world’s largest FDI recipient, with
flows to the Asian giant rising by 4% to $163 billion. High-tech industries saw an increase of

11% in 2020, and cross-border M&As rose by 54%.

“Although their investment activity slowed down Initially in 2020, they are now set to take
advantage of low 1nterest rates and increasing market values to acquire assets in overseas
markets for expansion. as well as rivals and smaller innovative companies affected by the
Crisis.

Tom g Tmerrer A AR iRy SR AvavaT 39 oR Sraier R @6 SR i

HIfErE 19 % TTa ¥ ISEHt @ 914 9 5¢ 9A 3 5 g A Fam o seen amm 13% B g @
W Rl AFETEAT 9 S wuEidl ¥t aRa ¥ wa U U ggnn e 9fone e wea et Faw (v
2 E) % & F WwA 2020 F 13% 7ty YW A ww| AR freda & A, 7 D T o 3 R e
3gEE TF 2 A giG WeRE Fi 2

=R 7 foee gedi 99 OF % aen (3es) 3 Rl ‘TaReEe 9% A F STER 2020 § dfras
THIIATE § 42% Hi Tae o8 &9 3% 2019 § 1.5 Rfomm w1l sor & o2 9% sHE-a 859 faferm
i) srer @ 18| el ewer Ferm % e o 8§ awa ok = & o v st 9

Wi 7 fefodi & § Fam O seEn ureR TR gig (13%) v N osm g | e w arfierge % s
e i @) H-wRE T SR U 83% Fig gF o We $27 faferm SR B T swmm e 9 T
Tl © ot awa | v SR T geEiil B Gen Her| IR 3 T, T W 3-aIheT WiewH, 32 THER
Fanat ik st gam wfin o wonfl ofn BeEw & 8, o= 9= § o W= @ £ omE &
SR BT & B STET-3TET <7 F T °, U W HEhE oW HH URSIeTE YTAHAl o % T ° g ° UM
T ¥R 8 77 4% U Tew 163 Mierm smiehi sen 3 T 3= WaitEhE s=En A 2020 3 11% # afg
£ Sl dim-uria v s v A 54% i a9t g

At ST e TdiEeE § 2020 % WY °§ 0 3T, 99 3 3 P o w3 o SR 5o | gig #
oY 331 W TR F fou wnp-wE g A aiemtE % e dR T d I9iEa Sfigel 3 oy
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(1) Overall production
(2) IT consulting and digital sectors
(3) Pharmaceutical and allied sectors

(4)  GDP and Per Capita Income

ure 3R gt o oo 9 & fFm & 9 sresi we 3 gagid 51 @ 27
(I} 999 37T

@) s el 7 fSheE o

(3)  wml T WA &
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[Question ID = 2079][Question Description = Q94_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 8313]
2. 2 [Option ID = 8314]
3. 3 [Option ID = 8315]
4. 4 [Option ID = 8316)
Correct Answer ;-
e 1 [Option ID = 8313]

Read the passage and answer the question

Recuperating of the impact of Covid-19, India attained 13% growth boosted by investments in
the digital sector. Infrastructure and energy deals also propped up M&A deals in India. As a
result India could achieve 13% growth in Foreign Dimrect Investment (FDI) in 2020 Amidst
global collapse, China is the only other country that has shown remarkably high FDI growth.

An ‘investment trends monitor’ issued by the United Nations Conference on Trade and
Development (UNCTAD) pointed out, global FDI collapsed in 2020 by 42% to an estimated
USD 859 billion from USD 1.5 trillion in 2019.China and India were two major outliers in a
gloomy vear for foreign direct investment.

India achieved positive growth (13%). boosted by investments in the digital sector where the
investments continued, particularly through acquisition. Cross border M&A grew 83% to 327
billion. Infrastructure and energy deals also propped up M&A deals in India. India and
Turkey are attracting good numbers of deals in IT consulting and digital sectors, including e-
commerce platforms, data processing services and digital payvments. In terms of mdividual
nations in ICT and pharmaceutical sector, China was the world’s largest FDI recipient, with
flows to the Asian giant rising by 4% to $163 billion. High-tech industries saw an increase of

11% in 2020. and cross-border M&As rose by 54%.

“Although their investment activity slowed down Initially in 2020, they are now set to take
advantage of low 1nterest rates and increasing market values to acquire assets in overseas
markets for expansion., as well as rivals and smaller innovative companies affected by the
Crisis.

for Ty T A s iy ik weavam 38w stenfi W @ S AR

FIES 19 % 999 B TR WA A9 94 50 WA 7 BEm &9 3 fow O sem  m 13% fglg
e | SFTEEA 9 Fo wEgdl 9 ot Yva § u U3 U e e ufvne wen vea e e (v
2 amg) % & ° 9RA 2020 ° 13% gig TE AW | divas Teea % &, 9= & v s g 2 e
sgEd s € Ak gig wehia i 2

IR = far Gerdt 9w U2 % geier (3Thae) g I FaEsie 3% Aidler T STEw 2020 ¥ AfTas
UFREIATE B 42% I fR@e @mg @R 72 2019 § 1.5 R2oET il gen O o2 # erEa 859 fafemm
s R e TE| faeeht wener FEm W Frommerrs o # st ofit = & 9w steatdt 9

a3 EEE o 4 Fom @ sgen TR T ghg (13%) | #N 3m am | fem w sifiom % i
tam S = dE-TEE W s T g 83% gig g% o w327 fefeRm sew B mEn semw 3 St
gagital @ it a9 v &1 gagial 1 Gern T awd 9 g, e e S-aiheg WiewH, S TEE
et 3k fsfadia gam giea sEd wme sk sfadim aui 4, st doar 4 augia =+ w 21 sl
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T 3R 951 A% 4% o 96 163 Tafema snrht e &t T 3= st g A 2020 § 11% Al
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oY 33 TR AR F o wgg-udEm el A et % steree ok wwe 8 wwika Wiagg! 9 o

Which statement is not true about China?

(1)
@
3
@

FDI inflows increase by 4%
International M&A increase by 54%
Highest FDI in ICT and Pharmaceutical sector

USD 1.5 Trillion sized economy

frafafea 0 / <9 & d@9y 14 ®R W w2 wd & 20

(D
(2)
(3
D

UHEISTE fa: YaR W 4% 1 gfg 7€ 2
stacigta s u il 54% R 9fy & 2
AT 3t wml & 1§ I=an TR
AU FI AR 1.5 i smfiad sen

[Question ID = 2080][Question Description = Q95_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 8317]
2. 2 [Option ID = 8318]
3. 3 [Option ID = 8319]
4. 4 [Option ID = 8320]

Correct Answer ;-
e 1 [Option ID = 8317]

Topic:-

Commerce 25NSHZ_SHAAN NOV21C

1)

Read the following passage and answer question in the most appropriate manner.

Management theomes help orgamizations to focus, communicate, and evolve. Using
management theory in the workplace allows leadership to focus on their main goals. When a
management style or theory is implemented, it automatically streamlines the top priorities for
the organization. Management theory also allows us to better communicate with people we
work with which in turn allows us to work more efficiently. By understanding management
theory. basic assumptions about management styles and goals can be assumed and can save

time during daily interactions and meetings within an orgamzation.

Theories can only reach so far, and management theories are no exception. There is no such
thing as a one-size-fits-all management theory. What may work for one organization may not
be relevant for another. Therefore, when one theory does not fit a particular situation, it is
mmportant to explore the option of developing a new theory that would lead 1n a new, more
applicable direction. While some theories can stand the test of time, other theories may grow

to be nrelevant and new theories will develop in their place.

From the late 1700s through the early 1900s, the Industrial Revolution brought
extraordinary change to the workplace and forever transformed the way companies operate.
The Industrial Revolution brought better and faster technology allowing companies to perform
more efficiently than ever before and gave them the abihity to dramatically increase their
output. In order to meet demand, company leadership had to ensure their employees were

productive.

Fraforfe meim = 92 ofR T & T9EE IR T

-
BRG]

TSEE Al W TS SIS, T g [ | gerEdr e 2 wEeye W yesd g % TEn g
ST T ARl W TSI Hied T 9Tl 21 99 Fis guu S = Oam weEtag e e L @ 92 = A
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T 38 SUF WeHATIa® HE T UM o] TH g B UNeH ¥ TEeE Ao SR A4 H g9 SaEne $1
T TE R SR THE FRE TeT % 3TCt BN Tl 21 A%t * AN THA 59 Tl 2| g 1 onEt S 2 2
3R YR g F3 s T 2 TS F @t 3 vt o o S| #E 6 fage 99 21 U ava 2 S
T TE H O FOR B e g H o S92 el w9 o g B R el oA A, @
v & T T fagia ¥ wer B gamn 9w St 78 3 dfvs ws B € @ s vm T g fage @ A
FUIP] W@ 30 G 5, 3179 gl & SAEAE 2 S o avra 2 31 36 o W e g fasiaa ge

183 w1 % o1 F T A 203 A9 F URY F a9 oF SNEITF FAd e STETIRT UNadT o o8
3T Z89m % foru SeH HUMET $ FETTE! F TIGRG F G ST FiG % WY Suat 3R dEat St
3 s Fulai e Tl off wom @ stles gavaEs s w1 P w0 0l o H semea ama °
SeAterh oG 531 7 = Sy HE b o B Sged i gRTEE w0 gs1 B wEE segs gl

(Given below are two statements:

Statement I : Management is the ultimate tool for achieving business goals.

Statement II : It was management only which initiated industrial revolution.

In the light of the above statements. choose the correct answer from the options given

below:

(1) Both Statement I and Statement IT are true
(2) Both Statement 1 and Statement II are false
(3) Statement I 1s true but Statement II 1s false

(4) Statement I is false but Statement II 1s true

I 2w f2u e E)
FAI :  YNUT SHSEE @ B U FE F1 g U 2

FEIL: 9% T6eA 3 o1 Gem sitenfie e % Iy e

SHIRE FYA % IATF H, A 1§80 FFeal ¥ U ged 3ugeh ST 1 =Ed Hifg|

(1)  =zm I 2k I A7 92 2
2y w1 3R I <[ Ted 2
(8) = I TE 2, S =eA II Teid 2

(4) % I e 2, ofed w9 I TE 2

[Question ID = 1606][Question Description = Q26_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6421]

2. 2 [Option ID = 6422]

3. 3 [Option ID = 6423]

4. 4 [Option ID = 424]

Correct Answer ;-

e« 1 [Option ID = £421]

2)
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Management theories help orgamizations to focus, communicate, and evolve. Using
management theory in the workplace allows leadership to focus on their main goals. When a
management style or theory is implemented, it automatically streamlines the top priorities for
the organization. Management theory also allows us to better communicate with people we
work with which in turn allows us to work more efficiently. By understanding management
theory. basic assumptions about management styles and goals can be assumed and can save
time during daily interactions and meetings within an orgamzation.

Theories can only reach so far, and management theories are no exception. There is no such
thing as a one-size-fits-all management theory. What may work for one organization may not
be relevant for another. Therefore, when one theory does not fit a particular situation, it is
important to explore the option of developing a new theory that would lead in a new, more
applicable direction. While some theories can stand the test of time, other theories may grow
to be nrelevant and new theories will develop in their place.

From the late 1700s through the early 1900s, the Industrial Revolution brought
extraordinary change to the workplace and forever transformed the way companies operate.
The Industrial Revolution brought better and faster technology allowing companies to perform
more efficiently than ever before and gave them the ability to dramatically increase their
output. In order to meet demand, company leadership had to ensure their employees were
productive.

Fraforfe meim = 9 ofiR T 9 SR E

TS Ul § S F AT, U 3 A § aeeEa ol 2 FEee W vET g % TS o
IJca 9 UEF TEE W I g 7K G 2| 56 His 6o el 7 g e e S 2, 9 98 = A
13 Fi A AR T SAEE # o 2] e fEga 9 59 o "EAiEl 8 dEd 59w OW 2 e
TH: B0 P GEHaTIE® BE UM & | TS Ugid B gaeE @ Teed S st Wl B 9w smuwond s
1 T & 3wy P} @red % ofet 2 artt 3 Aewt % e wHE s uwar &) gl A o Him 2 2
3R yEuH Togia 1% s1aam 43 21 v & gl § ot gan e’ S wie wege fugia 99 21 um ava 2 TR
F WA % T $OR 7 98 g F o 3ugem T 2 8, v v g el e a9 3 a8, @
IMETTF 2 T T g & hed Tl e I S T 9 21 yHed fom 6 o e wm 6 T fagm amm A
FHE T T IR TF 8, 77 THl % ANEETE o 9 ) SYTE 2 iR o T W e Wga ey 2

L5t et % o % a9t A 208 @ F e A o S R e # o wREd S o
s T ¥ R S R A IO T R S w e e s de e
vt P A we G o W @ s mewagEE A W FeTeR W ol s SR e e 8
SR i 551 F B T S R e Bt g g e 9 e e e A

What helps leadership to focus on their main goal?

(A) Management theories
(B)  Organizational structure
(C) Inter-personal relations
(D)  Effective HR policies

(E)  Government Directives

Choose the correct answer from the options given below:

1) @A), B), (C)only
@ (B, (), D) only
(3  (A), B)only

@ (A only

T % YR W TGS F A T AR W AW Higd A 1 fpwa g fied 87
(A) vEu1 Ty
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(B)  HTSATHS HEA] Your Personal Exams Guide
(C)  Fadafdrs qay

D) e aEE gEeE i

(E) awd fem-fn

= fou o faemegl ¥ § w39 #1 w5 S
(1) % (A), B). (C)

(2) %4 (B), (C). D)

(3)  Had (A), (B)

@)  HEA (A)

[Question ID = 1607][Question Description = Q97_Commerce_25N52_SHAAN_NOV21]
1. 1 [Option ID = 6425]

2. 2 [Option ID = 6426]

3. 3 [Option ID = 6427]

4. 4 [Option ID = 6428]

Correct Answer ;-

e 1 [Option ID = 6425]

Read the following passage and answer question in the most appropriate manner.

Management theomes help orgamizations to focus, communicate, and evolve. Using
management theory in the workplace allows leadership to focus on their main goals. When a
management style or theory is implemented, it automatically streamlines the top priorities for
the organization. Management theory also allows us to better communicate with people we
work with which in turn allows us to work more efficiently. By understanding management
theory. basic assumptions about management styles and goals can be assumed and can save
time during daily interactions and meetings within an orgamzation.

Theories can only reach so far, and management theories are no exception. There is no such

thing as a one-size-fits-all management theory. What may work for one organization may not
be relevant for another. Therefore, when one theory does not fit a particular situation, it is
important to explore the option of developing a new theory that would lead in a new, more
applicable direction. While some theories can stand the test of time, other theories may grow
to be nrelevant and new theories will develop in their place.

From the late 1700s through the early 1900s, the Industrial Revolution brought
extraordinary change to the workplace and forever transformed the way companies operate.
The Industrial Revolution brought better and faster technology allowing companies to perform
more efficiently than ever before and gave them the abihity to dramatically increase their
output. In order to meet demand, company leadership had to ensure their employees were
productive.

Tt meim =t 9 ofiR T 5 9w IW T

e Tl § TS F AT, U9 3 [ § aeea ol 2) FEee W vEe g % IS O
IJca A9 T&F OEE W S g 7 G 2| 56 His 6o Gl 7 g e G S 2, 9 98 = A
TS Fil I AfEFasT = TaieE 3R o 3| W fagE 9 39 o S5 § SR "9 W U 2 e
T B0 S0P QEHATIE® BE F UM 3| USUH Ugid ® gaeE @ Tee e st weml B ge smuwend s
1 T £ 3 Twe Pl e % ofe 2 arett 2 Aewt % e wHE s uwar 2) fugiat A e Himn 2 2
3R yseH Togia +18 s1uams 43 21 v & gl § ot gan e’ S e weige fugie 99 21 um ava 2 TR
TF TTeA * fC BN 7 97 R % o Iuged T T gt e v g e faew /e b O a9, @
AT 2 7 T g & ohed Tl aemEm I S T 9 a1 yEed fom 6§ ey v 6w fagm amm
FHEA W@ ST T 8, 97 THgH F ATEETE B S 9 99T 2 oIk Ik wm W e fagid e gl

18 T * o F 91 ¥ 203 TE % KA F AN OF SNATE Fid T § SOl UNaaT o o1
3R T % o SEH FubE H TRl F1 B 3R GE SR Fi ® WY SE TR R St
s g FatE = el ff T @ wifes mamae® s o S e ol iR ST S o |
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In the paragraph. what 1s meant by “There i1s no such thing as a non-size fits all

management theory”

(A)
B)
(€
D)

Management theories keeps on changing
There are different theories for different situations
A business can't grow without management theories

Management theories are non-scientific

Choose the correct answer froin the options given below:

(1)
2
(3)
@

(A), (B), (C) only
(B). (C), (D) only
(C), (D) only

(A). (B) only

sigeae 1w A gl O wft wm sd S whid veus fagia T R o o w2

4)
(B)
(©)

(D)

gagd Tz seerd &d 2

- ffoai & ferg irr-for fagia 21
varA fagri % T sraam s 4 9 W@ 2l
v frgia s1ewe €d 2

Hra feu e ferpedi 1 | Iuyad IW 1 T FINC

(1)
(2)
(3)

(4

+5d (A). (B). (C)
%34 (B), (O). (D)
%54 (C), (D)

%1 (A), (B)

[Question ID = 1608][Question Description = Q98_Commerce_25N52_SHAAN_NOV21]

1.1

[Option ID = 6429]

2. 2

[Option 1D = 6430]

Pl

[Option ID = 6431]

4. 4

[Option 1D = 6432]

Correct Answer ;-

L

[Option ID = 6429]

Read the following passage and answer question in the most appropriate manner.

Management theomes help orgamizations to focus, communicate, and evolve. Using
management theory in the workplace allows leadership to focus on their main goals. When a
management style or theory is implemented, it automatically streamlines the top priorities for
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the organization. Management theory also allows us to better communicate with people Weersonal Exams Guide
work with which in turn allows us to work more efficiently. By understanding management

theory. basic assumptions about management styles and goals can be assumed and can save

time during daily interactions and meetings within an orgamzation.

Theories can only reach so far, and management theories are no exception. There is no such

thing as a one-size-fits-all management theory. What may work for one organization may not
be relevant for another. Therefore, when one theory does not fit a particular situation, it is
mmportant to explore the option of developing a new theory that would lead 1n a new, more
applicable direction. While some theories can stand the test of time, other theories may grow
to be nrelevant and new theories will develop in their place.

From the late 1700s through the early 1900s, the Industrial Revolution brought
extraordinary change to the workplace and forever transformed the way companies operate.
The Industrial Revolution brought better and faster technology allowing companies to perform
more efficiently than ever before and gave them the abihity to dramatically increase their

output. In order to meet demand, company leadership had to ensure their employees were
productive.

Fraforfe eim = 9 ofR TR 6 IO IR E

TS Ul | TSl i SAFHEY, T § G T uEEd WAl 2] wEee W vy W % wE O
g U TET Ol W S Higd 9 U 21 99 i3 JEe el W fOga wEtag B S 2, @ 98 = A
T Fi A MU i SAEEeT # o 2| e g 9 56 o Tl O SEa 5aE W U 3 R
T B8 ATTS VHAE® B W UG Bl Y6 g B e W T Al S LA T I SagRe S
T A 2 AR THE FrE e % o7 B 9Tl A A2 % oW uHA 5= g9l 2| fagrat # s e B 2
AR YR Tag@ F5 AR T 2 T A e § wedt o S wE vEe g 96 2 v ava @ T
T WA o HOR B aw g ¥ o sugaa 4 2 gulen ww w fagia Bl few fef 4 d a8, @
sTaTTH ¢ 7% 7u faga F et B qemm 9w S 9 9 sAtus wHie w8 @ o) 9w 5 T fage @ A
FHP W@ 30 G 5, 3179 TGl b AT 2 S o arE 2 31 36 o W A g fasia ge

183 w1 % o/ F T A 203 A9 F URY F a9 oF STETE Fid e ¥ TR UiadT e oT8
iR T8 % forw sen HufEt f wEwnel 1 wTaiE w1 St Fie Wy duw off daa St
ag foms wati uge Todl off @ @ stlers gavagE® ®0 # Fure w6 w@ff ot SR sered aea 8
SeIteE iy 531 6T =l Sl = % o o Sgea 1 ghfTaa e gst B weer seaeE gl

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as
Reason R :

Assertion A: The industrial revolution brought better and faster technology allowing

companies to perform more efficiently than ever before and gave them ability
to dramatically increase their output.

ReasonR: In order to meet demand, company leadership had to ensure their employees
were productive.

In the hight of the above statements, choose the most appropriate answer from the options
given below:

(1) Both A and R are correct and R 1s the correct explanation of A

(2) Both A and R are correct and R 15 NOT the correct explanation of A
(3) A 1s correct but R is not correct

(4) A 15 not correct but R is correct

ﬁ%w@‘éﬁmﬁ‘lm%l%aﬁﬁw{Assertianﬂ}%wﬁ%ﬁ%%ﬁww%w{Reasonﬂ}%

EAH :

AlqHA A ;. SAFTE Fid F WY Tew IR Fow THmst g Sew Fete wwe o o wmm w
Hios BEHaTES FE B G B S SR SOaA S § ST i 5|

FOOR: T YN B % T T Age F 78 gETaa w00 991 75 A Saes B

LT Y h TR °, A9 5 e famedl § O ged 3w 3h @l =4 i)

(1) AR Rz @ F o1k R. A : 5 =mem 2

20 AR R @ £ ot R A i 78 =3 T 2

(3) AR R R T

@ AT T2 AR R R



WWW.prepp.in . r e p p

[Question ID = 1609][Question Description = Q99_Commerce_25N52_SHAAN_NOV21] Your Personal Exams Guide
1. 1 [Option ID = 6433]

2. 2 [Option ID = £434)]

3. 3 [Option ID = £435]

4, 4 [Option ID = 6436]

Correct Answer :-

s 1 [Option ID = 6433]

Read the following passage and answer question in the most appropriate manner.

Management theories help organizations to focus, communicate, and evolve. Using
management theory in the workplace allows leadership to focus on their main goals. When a
management style or theory is implemented, it automatically streamlines the top priorities for
the organization. Management theory also allows us to better communicate with people we
work with which in turn allows us to work more efficiently. By understanding management
theory. basic assumptions about management styles and goals can be assumed and can save
time during daily interactions and meetings within an orgamzation.

Theories can only reach so far, and management theories are no exception. There is no such
thing as a one-size-fits-all management theory. What may work for one organization may not
be relevant for another. Therefore, when one theory does not fit a particular situation, it is
mmportant to explore the option of developing a new theory that would lead 1in a new, more
applicable direction. While some theories can stand the test of time, other theories may grow
to be nrelevant and new theories will develop in their place.

From the late 1700s through the early 1900s, the Industrial Revolution brought
extraordinary change to the workplace and forever transformed the way companies operate.
The Industrial Revolution brought better and faster technology allowing companies to perform
more efficiently than ever before and gave them the abihity to dramatically increase their
output. In order to meet demand, company leadership had to ensure their employees were
productive.

Fraforfe merm = 9 ofR T & 9w WS

TS UGl | TSl AR, T d G T eEd madl 2] wEee W gy [mge  wE O
g T TET Tl W S higd IR W 2l 99 3 JEe el @ fOga wEtaa B S 2, @ 98 3= 8
e Fi A AT i SAEeT 31 o 2] e g 9 56 o Tl O SEa 5aE W U 3 e
T 38 SUF WeHATIE® w1 TR UM ol THU g B oNeE ¥ TEeE Ao SR A58 g9 SaEns s
T HFA 2 AR THE e e % 97X BN el A A2 % oW uEa 5= w1 2| fagrat # s e B 2
AR TR @ F% AR T 2 TE A et § vt wm o S wE vae fage 76 8 v ava R T e
UH WS F T FOR B aw R H o I9%9 7 2 gulen W@ vw fagia Gl few ol | 9 o 48, @
sTaTTH ¢ 7% 7u faga + et B qemm S S 9 9 sAtus wwie G 8 & o) 9w 5 oo g @ A
FUP] W@ 0 G 5, 3179 TGl b A 2 S o e 2 31 36 o W Y g fasiaa ge

183 w1 % o1 F a9 A 203 A9 F URY F G901 oF SNETE Fd FEEAA ¥ TETIRET UNadT o o8
3 ZES % 0 ST HUEET 1 FEUE F1 TAEG 7 e S ®itd % WY audl o diwat Jeteret
as fows aii ugel Tdl off wmm @ stlvs gavagd® w0 # Fure w6 @l ot SR seed aea 8

Which among the following 1s NOT a correct statement?

(1) Industrmal revolution was a turning point in Business operations.
(2) Management theores are ever changing

(3) Good management makes communication flow better

(4) Management always moves in a straight line
Frerferfaa 3 @S- wo wen 7 22

(1)  sirenfies wifs ssagr yaeri § v Fuas ot o)
(2 yeuA fagra g wgerd & 2

(3)  I9H WEUA § WG F AR TR & Sl 2

@)  vEuA g € @ 0 S 2

[Question ID = 1610][Question Description = Q100_Commerce_25N52_SHAAN_NOV21]
1. 1
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Pk

[Option ID = 6438]
3.3

[Option ID = 6439])
4, 4

[Option ID = 6440]
Correct Answer :-
a1

[Option ID = 6437]

Topic:- GP_25NOV_S5H2_A

1) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation tercentage (%) of Ratio of Male to Female
mployees employees

A 18 % 3.7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

miferot 3 v s1v sfiast o anfne uz geal © 302 SR -

forgmiteram aiferpt diw f9ree1 - oot Fistonil (A - E) # el @ givrera Kersior @I il gy a afden wernixi < aeurd ! ceridl 2 il
uia Hs1aai 4 ger 35000 watardt orfya

DRIl o1 Fsosanr faymsie ;

- oTeer [PHAIRI Y gfreraar (% )gsu o FfEaT wafnfxi BT anuTT
A 18 % 3:7
B 22 % 11:9
C 31 % 3:2
D 15 % 2:3
E 14 % 1:3

The total number of employees in Organisation C is approximately what percent of the total number of employees in
Organisation D?

Fistod C A antnfzil &t w1 i Feroet D # ot Bt mo sz o oepe Reaen gfeer & ?

[Question ID = 2016][Question Description = 52_qSNz_PG_GP20_Q01]
147 %/147 % [Option ID = 8061]
312 %7312 % [Option ID = 8062]
207 %/207 % [Option ID = 8063]
183 %/183 % [Option 1D = 8064]

N VT X

Correct Answer ;-
o 147 %/147 % [Option D = 8061]

2) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation IPerr:entage (%) of Ratio of Male to Femuale
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lemployees lemployees
A 18 % 3:7
B 22 % 11:9
C 31 % 3:2
D 15 % 2:3
E 14 % 1:3

Organisation-wise Breakup of Employees

miferot # v s1v sfiast o anfne oz geal @ 30z kM -

forgaiterae aifenpr diw f9ioe1 - oot Fistonil (A - E) # @il @ givrera Kersior @I 3z gy a afden aernixi 9 aeiurd of ceridl £ il
gt Halaall 3 wer 35000 mafarit oriwa &

=il o1 Fsoeanr faymeie ;

- o1eer [OAEIRR WY gftrerTan (% )ogEy & mfda arsn iyl wr T
A 18 % 3:7
B 22 % 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3

What is the total number of males in all the five organisations together?
Fft afer FisTosit @ fhenem: geyl Bt @a A o 7

[Question ID = 2017][Question Description = $2_qSNz_PG_GP20_Q02]

o B

13350413350 [Option ID = 8065]
14700414700 [Option ID = 8066]
15960715960 [Option ID = 8067]
16280/16280 [Option ID = 8068]

Carrect Answer ;-
& 13350/13350 [Option ID = 8065]

3) Based on the data in the table, answer the questions that follow

prepp

Your Personal Exams Guide

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation tercentage {%) of Ratio of Male to Femuale
mployees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

miferot # v s1v sfiast o anfne oz geal @ 30z kM

forgaiteram aiferpr diw f9ioe1 - oot Fstonil (A - E) # @il @ givrera Keisier @I 3z gy a afdon werniyi < areiurd ! ceridl £ il
uia He1aat d mer 35000 watardt orfwa

HiEl @I Jsoaanr fayse |

iaTaor (PRI @ giererrar [%}@Hammﬂmﬁﬂm@m
A 18 % 3:7
B 22 % 11:9
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C 31 % 3:2 Your Personal Exams Guide
D 15 % 2:3
E 14 % 1:3

What is the ratio of the number of males in Organisation A to the number of males in Organisation C?

Horoel A A grul & dwean 3tz dHeiga C 3 gaul &l st o1 ear = & 7

[Question ID = 2018][Question Description = $2_q5Nz_PG_GP20_Q03]
1. 18:31/18:31 [Option 1D = 8069]

2. 9:31/9:31 [Option 1D = 8070]

3. 7:27/7:27 [Option 1D = 8071]

4. 9:19/9:19 [Option 1D = 8072]

Correct Answer ;-
e 18:31/18:31 [Option ID = 8069]

4) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E), There is a total number of 35,000 employees working in all five organisations.

Organisation |Percentage (%) of Ratio of Male to Femuale
employees employees

A 18 % 3.7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

aferest 3 2w a1y siiessi & Arens uz gl @ Faz S ;

Broifotian aifdieT Gte fsst - Bioor Histestl (A - E) 3 cafariil & gfiror Reisiol & 3 959 a Akar oyl & sgur o) cofdl 2 mi
uir zisTosit 3 qer 35000 wendt wrle &
grlarivl @1 dAerowar nmea ;@

 +s1oop PIERRD Y gRtorTaT (%)gu a ARer watmfyt T srgaT

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

What is the difference between the number of females in Organisation E and the number of females in Organisation B?

Fooa E # afdcnsil &t siecar iz Fetoa B # sfzosii & e w1 e aen g ?

[Question ID = 2019][Question Description = $2_qSNz_PG_GP20_Q04]
210/210 [Option ID = 8073]
3507350 [Option ID = 8074]
170/170 [Option ID = 8075]
300/300 [Option ID = 8076]

N VE L Ly

Correct Answer ;-
e 210/210 [Option |D = B073]

5) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.
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Organisation |Percentage (%) of Ratio of Male to Female
employees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:2

Organisation-wise Breakup of Employees

aiferat 3 e a1y sieest o amenz uz gesil @ gae i |
fBrrmteri¥aa mferest git fiear - Bisar Haroal (A - E) & ol @ gftrera Rorser ot i go a afden wamfi @ somora o soddt 3wkt

uia Fe1aa A wa 35000 waardt orlya &

wniEn T Jecear [nirse

1o (PHCITRT Y gfitorar (%)gzu a sifdar wataitkl T g
A 18 % 3:7
B 22 % 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3
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What is the sum total of the number of females in Organisation D and the number of males in Organisation E?

Heorad D 3 sl &l Hzwan A1z Fs106 E 3 gl &l s o1 @a wdler a2 87

[Question ID = 2020][Question Description = $2_q5Nz_PG_GP20_Q05]
437554375 [Option ID = B077]
447554475 [Option 1D = BO7E]
450054500 [Option ID = B079]
4875/4875 [Option ID = 8080]

N PP L Y

Correct Answer ;-
e 4375/4375 [Option ID = 8077]

Topic:- GP_25NOV_SHZ_B

1) What is the name of the score the student would get if the measurements were completely accurate and error-free?

1ie e Yol JAds siie gfezlen 81, ol el o Brom acr graie o &6 o & 7

[Question ID = 2026][Question Description = $2_q5Nz_PG_GP20_Q06]
l-score/ang - guice [Option 1D = 8101]

2. Neutral score/geze [ [Option 1D = 8102]

3. True score/a=ate e [Option 1D = 8103]

1.

4. I-scorefw= - i [Option 1D = B104]

Correct Answer :-

e [-score/ams - gmie [Option (D = 8101]

2) "Contagious" spreading of behaviours through imitation, is known as

3GRIS0TL D At A wrasl ot "aiabie” gae o ¥ -

[Question ID = 2027][Question Description = $2_qSNz_PG_GP20_Q07]

B —

Random effect/=metiew gam [Option 1D = 8105]

Ripple effect/zh gema [Option D = 8106]

Scripted effect/ffteg gang [Option 1D = §107]

MNorm effect/ames gurg [Option 1D = 8108]

Carrect Answer ;-
# Random effect/=izikas qam [Option ID = 8105]
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3) Given below are two statements Your Personal Exams Guide

Statement I: In all interactions, a message is sent and a message is received. Sometimes teachers believe they are sending
one message, but their voices, body language, choice of words, and gestures may communicate a different message.

Statement |l: To deal with cyberbullying, parents should be encouraged to keep computers in a public room in the house.

In light of the above statements, choose the most appropriate answer from the options given below

oIk g el Rw s &

e - | il srcesaiapaail # v FHEer Yt finan S 8 afiz o 39l o AiiEfEul e Sirar 2 il - @osil 19127 T 8 [ 4 uop Figor
d¥s1 3% &, adq vivra 3 B sorbl ananst, orfl smar, oSt wr g6t i s »ifftd e area Ader At et &

arerat - || @ Tarsasgeiser” A RBrawst @ e wreged ol ar @ andafirr wer F waet @ e st o Qirai@a aear aifde
I well @ sty 3, of Ry so fawedal # A wf saz o waa G @
[Question ID = 2028][Question Description = $2_qSNz_PG_GP20_Q08]

Both Statement | and Statement [l are correct/=em | iz || = =2t & [Option 1D = 8109]
Both Statement | and Statement [l are incorrect/wram | 33 |l 85 siem & [Option 1D = 8110]
Statement | is correct but Statement Il is incorrect /e | a8 &, freg e |l 3@ £ [Option ID = 8111]

B T e

4) Match List 1 with List 1l

List | List Il

Ericson's Psycho-social development Stage

A. Intimacy vs. Isclation . Normally after retirement
B. Ego integrity vs, Despair Il. Much of adulthood

C. Generativity vs. Staghation 11l. During adolescence

D. Identity vs, Confusion IV, During the 20s

Choose the correct answer from the options given below:

et -1 Bt et -1l 3 e if

et - et -1

(ol sparer Ficil - AN fer) |(=rz01)

A. afdrscar soma worbasr I. Feam: FaBoh @ ag
B. agH TeIforeot aoiidl 3569 |Il.maﬂaa$a$mﬁ
C. Sreretieaesar gorrd siferdieran |III. RreirRraren A

D. sifdgar gom spfod Iv. 20 3 29 ad &t s 3

i) 7w o1 Repeal & 3 718t 3= giow
[Question ID = 2029][Question Description = 52_qSNz_PG_GP20_Q09]

A-1¥,B-1,C-1l,D- Il [Option ID = 8113]
A-1,B-Il,C- I, D- IV [Option ID = 8114]
A-1l, B -1, C-I¥,D-I[Option ID = 8115]
A-1ll,B-1V, C-1,D -1l [Option ID = 8116]

a2 =

Carrect Answer ;-
o A-I¥,B-1,C-Il,D-Ill[Option ID = 8113]

5) Which among the following are components of decision traps to illustrate what needs to be a possible evaluatory
framework to monitor the learning process?

A. Overconfidence

B. Coaching

C. Frame blindness

D. Taking shortcuts

E. Persistent misconception

Choose the correct answer from the options given below:

i gikpen bt rne @ [Rie sk #earserasp S =0 81, J6 gotbl 3 o ik wal (Rimsme $u) © aow hbeofilaa # A wia
27

A, afasarr
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B. smqfergror Your Personal Exams Guide
C. © e

D. gii@ - @we oo

E. vercii Bieem - emevm

ol f8u a1 fRepedl d A A6l 37 @l w=s difens :

[Question ID = 2030][Question Description = $2_qSNz_PG_GP20_Q10]

A, Cand D only/asm A, C & D [Option 1D = 8117)
A, D and E only/d5am A, D sz E [Option ID = 8118)
B, D and E only/a@aer B, D afiz E [Option ID = 8119]
B, C and D only/&am B, C sfiz D [Option 1D = 8120]

R e

Carrect Answer ;-
o A CandD only/@ae A, C afiz D [Option ID = 8117]

6) The rationalistic mode of knowledge accepts the rules of

S @ gigarct gerR Rperds forma s 8 7

[Question ID = 2031][Question Description = $2_qSNz_PG_GP20_Q11]
Legality /#emm [Option 1D = 8121]

Manipulation/2ziz [Option ID = 8122]

Logic/mrfemsey [Option 1D = 8123]

Authority faro [Option (D = 8124]

e it R

Correct Answer ;-
& Legality/derm [Option ID = 8121)

7) Which of the following reliability techniques are used in qualitative research?
A. Diachronic reliability

B. Quixotic reliability

C. Synchronic reliability

D. Holsti's constant

E. Chronbach's alpha

Choose the correct answer from the options given below:

Rrafeifiaa d 3 ®la - il Rrasam aweila] @1 Yrier spnears v # Kear sr 8 7
A. wrrplire RraReiRe

B. scamasiivr Rrearseia

C. womiferp [rareiim

D. icet w1 3rR

E. @icare @1 b1

oiil 18 =1u faweal d A 1l Iz D1 T DT 2

[Question ID = 2032][Question Description = $2_q5Nz_PG_GP20_Q12]

A, B and C only/@am A, B afiz C [Option [D = 8125]
B, C and D only/wam B, C 3fiz D [Option ID = 8126]
C, D and E only/@am C, D & E [Option ID = 8127]
A, Cand E only/oam A, C 3z E [Option D = 8128]

oL B

Correct Answer ;-
e A, Band C only/aas A, B 3fiz C [Option ID = 8125]

8) Which of the following are the essential characteristics of the case study method?
A. Negatively oriented

B. Appreciation oriented

C. Particularistic

D. Descriptive

E. Inductive

Choose the correct answer from the options given below:
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foraftifan d 3 Tia-3 dw-aeayas [ &t sifar! Ridaae § ?

A. EpRIeIEDE B 31T JoaE

B. Jwsea & 1 iz IomE

C. RiidreamEt

D. auiciea<e

E. smememraem

i) 7w a1e Repedl A A 73 s @1 T~ it ©

[Question ID = 2033][Question Description = $2_qSNz_PG_GP20_Q13]

A, Band C only/@am A, B 3fiz C [Option D = 8129]
B, C and D only/oam B, C 3fiz D [Option ID = 8130]
C, D and E only/asaer C, D & E [Option ID = 8131]
A, B and E only/a@aer A, B iz E [Option 1D = 8132]

ol B

Carrect Answer ;-

® A Band C only/a@am A, B afiz C [Option ID = 8129]

prepp
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9) Given below are two statements
Statement I; Qualitative research is impressionistic and subjective.
Statement II: Quantitative research has a higher level of possibility of generalising the findings.

In light of the above statements, choose the correct answer from the options given below

ofl &t west Rese & :

averat - | 1 sponesas oiter g iy Rraalrs sk 3

averat - || @ ofvamncass ofter 3 yaafReril @ wrmsdya wwa &t soaaz Tz Bt dnaanr it §
I wuell @ smelas 3, of Ry so faweal # A aft saz o waa G

[Question ID = 2034][Question Description = $2_qSNz_PG_GP20_Q14]

Both Statement | and Statement Il are true/=se@ | 42 || @6l 3=y & [Option D = 8133]

Both Statement | and Statement |l are false/mem | 3 || Sl aecg & [Option (D = 8134]
Statement | is true but Statement Il is false/@ue | 7 &, Prog @em || sme & [Option 1D = B135]
Statement | is false but Statement Il is true/@uge | sera 8, feeg et |l a2 [Option [D = 8136]

oW =

Correct Answer :-
@« Both Statement | and Statement || are true/Trem | 4z || g =1 € [Option |0 = 8133]

10) Match List | with List [l

List | lList 1

Scale kharacteristics

A, Arbitrary Scale ||. Attitude statements are decided by judges

B. Thurstone Scale |II. Summated ratings

C. Likert Scale |III. Consists of seven spaces between two bipelar adjectives
D. Semantic differential |IV. Questions are selected on an a priori basis

Choose the correct answer from the options given below:

it -1 B 3t -l @ FRRm iR

e - areht -1

(amasht) |(Rroreran)

A. s Anastt ||, srfigla afirsers o et forfaaswil grer fieen ser 2
B. exclar mrasht ||l wawsRa w1 - Bredzon

C. fersd araeft ||l zwdt & el Ridraull & dter zamar sieerer 2k 8

D. sreeret Ristsew |V, geai @1 asm geiepifers snenz giar 8

iy R 310 famseal 3 31 #él 3= gfore ;

[Question ID = 2035][Question Description = $2_qSNz_PG_GP20_Q15]

A-1,B-1l,C-lll, D- IV [Option ID = 8137]
A-1V,B-1,C-Il,D- Il [Option ID = 8138]
A-NI,B-1v, C-1,D -l [Option ID = 8139]
A-1,B-1I,C-1¥, D-I[Option ID = 8140]

o R
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Correct Answer :- Your Personal Exams Guide
e A-1,B-1I,C-1ll, D- IV [Option ID = 8137]

11) Media kits are used in

itfEen el (smavers avqatl) @ yeie et e 8 7
[Question ID = 2036][Question Description = 52_qSNz_PG_GP20_Q16]

Confidential communication /sigst smw [Option 10 = 8141]
Internal communication/ smrtir =mmer [Option 1D = §142]
Classroom communication /s 2w [Option (D = 8143]
External communication/amer Saor [Option ID = 8144]

b B

Carrect Answer ;-
* Confidential communication/shgefi iy [Option 1D = §141]

12) Non-verbal communication makes use of-
A. Behaviour to generate meanings

B. Emotional meanings

C. A non-clear system of rules

D. Verbal finessé

E. Clarity in abstraction

Choose the correct answer from the options given below:

yonfees AT Kooret geiiel o & 7

A, sl Fraca Tl & 6w waER

B, sirgencars aref

C. forml &t 31z - Fuse yonedt

D. gufdcs okt

E. @11z spgor 3 susedr

oll 6w a1z [aweul 4 3 #1dl 3z oI wa it ¢

[Question ID = 2037][Question Description = S2_qSNz_PG_GP20_Q17]

1. A, B and C only/®am A, B afiz C [Option [D = 8145]
2. B, Cand D only/@am B, C sz D [Option ID = 8146]
3. C, Dand Eonly/@aa C, D &z E [Option ID = 8147]
4, A, B and E only/<wm A, B giz E [Option 10 = 8148]

Correct Answer ;-
o A, BandC only/@mm A, B 3z C [Option [D = 8145]

13) A competent communicator is
A. Culturally neutral

B. Culturally sensitive

C. Totally ethical

D. Situationally ethical

E. An effective listener

Choose the correct answer from the options given below:

ALIH HYES a2 e & ?

A, HiTniae =a A aora

B. Wizohics =0 A Hacarefc

C. yofazn sifrs

D, frefy & s At

E. v qarcdt gfFm

ofl R o1e Rraseal 9 3 78 3w o awer S :

[Question ID = 2038][Question Description = $2_qSNz_PG_GP20_Q18]
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A, B and C only/@ae A, B ait C [Option ID = 8149] Your Personal Exams Guide

B, C and D only/dae B, C afiz D [Option ID = 8150]
B, C and E only/dsaa B, C sfiz E [Option 1D = 8151]
C, D and E only/@am C, D &z E [Option ID = 8152]

T

Correct Answer :-
o A, Band C only/@ae A, B sfiz C [Option D = 8149]

14) Information provided before sending the primary message is known as

grefirs ol #sTol 3 Uadl &1 SiTel arcll eIl @I ®ad 3 :

[Question ID = 2039][Question Description = S2_qSNz_PG_GP20_Q19]
1. Intro/qtzr [Option ID = 8153)

2. Indicator/sigxme [Option ID = 8154]

3. Pre-message/qd - Fder [Option ID = 8155]

4. Feed forward/am) gftz (612 wizas) [Option D = 8156]

Carrect Answer ;-
# [ntro/uR=rt [Option 1D = 8153]

15) Given below are two statements
Statement I; People use non-verbal cues more than verbal cues.
Statement Il; Non-verbal cues have better believability than spoken words.

In light of the above statements, choose the correct answer from the options given below

il G o Resm & ;

arerst - | 1 aior onfiows wadal A sffros srenfRoes Habdl o1 galer wed §

aseret - |l & sronRews vidvast o affr omst &5t ardsn dsay Reawsiaa 28 &
I WAl @ el #, A Ry a1 Rovedl # A wét saz o e S ¢
[Question ID = 2040][Question Description = $2_qSNz_PG_GP20_Q20]

Both Statement | and Statement Il are true/=em@ | 4z |l Seil 3w & [Option 1D = 8157]

Both Statement | and Statement |l are false/mem | iz || 3wl sem=r & [Option |0 = 8158]
Statement | is true but Statement Il is false/@ue | 7w &, Prog ovem || smea @ [Option 1D = 8159]
Statement | is false but Statement Il is true/= et | sera 4, oo et |l s & [Option 1D = 8160]

-

Correct Answer :-
e Both Statement | and Statement |l are true/wem | #iz |l S = £ [Option D = 8157]

16) What number should replace the question mark(?)?

3529, 64, 9817, 115, 3257, 7

fosa dwmn & iz qeafias o greitra B sen aifde ?
35, 29, 64, 98, 17, 115, 3257, 7
[Question ID = 2041][Question Description = $2_qSNz_PG_GP20_Q21]

126/126 [Option D = 8161]
89/89 [Option ID = 8162]

98/98 [Option ID = 8163]

146/146 [Option ID = 8164]

-

Correct Answer -
e 126/126 [Option ID = 8161]

17) A man weighs 75% of his own weight plus 39 [bs. How much does he weigh?

o wafes @ 45161, el ¥Rl @ asis w1 75% iz 39 aes ¥ swan arvaficr asier o 3 7

[Question ID = 2042][Question Description = $2_qSNz_PG_GP20_Q22]
1. 165 lbs/165 mmvs [Option ID = 8165]
2. 160 lbs/ 160 umvs [Option ID = 8166]
3. 156 lbs/156 umes [Option 1D = 8167)
4. 166 lbs/ 166 wmes [Option ID = 8168]

Carrect Answer ;-
® 165 Ibs/ 165 u@vs [Option 1D = 8165]
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18) Ravi's salary is increased by 20%. On the increased salary, the tax rate is 10% higher, The percentage iX?#éE&%F?&QG' Exams Guide
liability is

4 @1 aas 20% a1 K o & gy deael uT @ &I o 10% =t 3d 8 @ Saar I yfasa gfg B :

[Question ID = 2043][Question Description = $2_q5Nz_PG_GP20_Q23]
1. 20 %/20% [Option ID = 8169]
2. 22 %/22% [Option ID = 8170]
3. 23 %/23% [Option 1D = 8171]
4. 24 %/24% [Option ID = 8172]

Correct Answer -
e 20 %/20% [Option ID = 8169]

19) Given below are two statements
Statement I: A 60 m long train passes a 90 m platform in 10 seconds. The speed of the train is 45 km/hour,

Statement |I: If the ratio of the speeds of A and B is a:b, then the ratio of the time taken by them to cover the same
distance is a:b.

In light of the above statements, choose the correct answer from the options given below

ofidr < werer e s & ¢

e - | 1w 60 ez adl YoeiE vee 90 dies wowist @t 10 ds # ur @2 aar & Yoeisl ol am 45 et / dea @
werel - || @ A 3fiz B & a1 @1 siguiT a ;b 3; Al s mra wme gt i @wol @ fere, fony s1v Rt @t agua a c b E
IURITE D6l B KD #, ikl fow 216 fawcdl d 1 w1l sz @1 awa Hifem ¢

[Question ID = 2044][Question Description = $2_q5Nz_PG_GP20_Q24]

1. Both Statement | and Statement |l are true/wem | 3= || @it 3= £ [Option ID = 8173]

2. Both Statement | and Statement [l are false/wewmr | 3 1| <iei s £ [Option 1D = 8174]

3. Statement | is true but Statement Il is false/wem | o £, freg oo 1 ap & [Option 1D = §175]
4, Statement | is false but Statement Il is true/wem | spr &, e weE || s 2 [Option 1D = §176]

Correct Answer :-
e Both Statement | and Statement |l are true/mem | sz | si=t s & [Option 1D = 8173]

20) Answer the following statements?

A. At 5% rate of simple interest, a certain sum will be doubled in 15 years.

B. A sum becomes double in 10 years. The annual rate of simple interest is 12%.

C. T1000 will become 1331 in 3 years at compound interest rate of 10% per annum.

Which of the above statements isfare CORRECT?

frrafeiliaa wusl uz fRar Gt .

A. 5% wreur == Et 62 Uz, wr i widn 15 adl # ool o et 3

B. v aifdr 10 aul 3 gomwit &t siedl 8 ntmevr &=t &bt affr &2 12% 8

C. ot aut & T1000, 1331 3 sween, 10% Fwmen aifthe aamgly st & o2 Uz
ol 8u a1 fRepedl d A A6l 307 @l w=s ifans :

[Question ID = 2045][Question Description = $2_qSNz_PG_GP20_Q25]

1. Conly/fwr C [Option D = 8177]

2. Aand C only/faseT A diz C [Option 1D = 8178)
3. Band C only/asmeT B diz C [Option 1D = 8179]
4. A and B only/@ae A i3 B [Option ID = 8180)
Correct Answer ;-

* C only/@aer C [Option ID = 8177]

21) Match List | with List Il

Consider the following in the context of the Square of Opposition of Propositions

List | List Il

Propositions Square of Opposition

A. If 'A' is False I. ‘A" and 'l' are False

B. If 'E' is True Il. 'E’' is False; I’ is True
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C. If 'I' is False . 'E" and 'Q" are True
D. If 'O’ is True |IV. 'E' and 'I' are Undetermined
Choose the correct answer from the options given below:

et -1 ot et 11 3 e if

et - | et -1

A, aeE 'A' e B |, 'A'dz 'l s &

B. a7 'E’ area § . E s 3; ' 8
C.aez'|' s & M, E'sdf=z'0Ca=E

D. a3 'O srava B IV, 'E" 3fiz 'I" sifererifya &

iy Rw s1e faseal 3 31 78t 3w gfew

[Question ID = 2046][Question Description = S2_qSNz_PG_GP20_Q26]

1. A-1,B-1I,C-1ll, D - IV [Option ID = 8181]
2. A-1,B-1NI,C-1¥, D-I[Option ID = 8182]
3. A-NILB-1,C-1l, D- IV [Option ID = 8183]
4. A-IV,B-1,C-1,D- Il [Option ID = 8184]

Correct Answer ;-
e A-1,B-11,C- I D- IV [Option ID = 8181)

22) Mame the fallacy committed in the argument
All dogs are mammals.

No cats are dogs.

Therefore, no cats are mammals.

Choose the correct answer from the options given below

B 3 Zeann oI oA fer
78ft T o A E

@ facch om ad 2

are: @1 faeedt soerenst ot 2

[Question ID = 2047][Question Description = $2_qSNz_PG_GP20_Q27]

[licit Major/aidea ame [Option D = §185]

ILlicit Minor/arde wat [Option 1D = 8186]

Undistributed Middle/aRsnGm &g [Option ID = 8187]
Existential Fallacy/ sif¥mraae grmma [Option ID = 8188]

o R

Correct Answer :-
® |llicit Major/arig a3 [Option 1D = 8185]

23) From the options given below, pick the CORRECT sequence in the context of constituent parts of inference

7sft T QYoft @1 avrel, AN @ Hued aielf @ Woef X @% -

[Question ID = 2048][Question Description = $2_qSNz_PG_GP20_Q28]

1. Hetu, Udaharana, Nigamana, Upanaya, Pratiifa/ag, Joewr, Gema, 3oaa, giasy [Option 1D = 8189]
2. Nigamana, Hetu, Udaharana, Upanaya, Pratiifa/fewe, &g, Fomwrn, 3oe, giesn [Option 1D = 8190]
3. Pratijia, Hetu, Upanaya, Udaharana, Migamana/qffer, &, I0om, JeEw, Bema [Option 1D = 8191]
4. Pratijha, Hetu, Udgharana, Upanaya, Nigamana/qirmr, &, 39w, 3uer, foeme [Option 1D = 8192]

Correct Answer :-
& Hetu, Udgharana, Nigamana, Upanaya, Pratijha/&g, 3o, Bewm, suemE, gk [Option 1D = 8189]

24) Match List | with List Il

List | lList 1

’A. Samanyalaksana L Intuitive perception of all objects- past, distant and future due to supernormal powers
Pratyaksa enerated by meditation

B. Jiana Il. When objects are not actually present to sense but are conveyed to it through a special
Laksana Pratyaksa medium

C. Yogaj Pratyaksa |III. Perception of an object which is in contact with sense through previous knowledge of itself

D. Alaukika Pratyaksa |IV. The perception of a whole class of objects through a generic property
Choose the correct answer from the options given below:
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Felt -1 o et -1 3 i i Your Personal Exams Guide
it - | it -1l
i |, eamet 3 Srueot AfaTe orftnedl & wrvr Wit ucredlf @& Y,
: Gever Ud i 1 afod: YSislod Yrasl 8T 2
B. sma aiamr ||, s/ gerel o # sheal 3 sufam it o afto oo fada
ISt AEA D I I &l
C. ==t . 52t aeret w1 gragiason s sfoeal <& Jwe 3 3, 3 g -
geast o TRL
- IV, ucrelf & ARy asi &1 yreagficsao, snfa &5 amas 3
sy

a1k o oo Repedl 3 3 318l 302 gieme :
[Question ID = 2049][Question Description = $2_qSNz_PG_GP20_Q29]

1. A-11,B-1,C-1ll, D- IV [Option ID = 8193]
2. A-1,B-1,C-Il,D- IV [Option ID = 8194]
3. A-IV,B-ll, C-1,D- Il [Option ID = 8195]
4. A-1I,B-11,C-1,D- IV [Option ID = 8196]

Correct Answer -
® A-1I,B-1,C-I D- IV [Option ID = 8193]

25) The example 'sound is eternal because it is caused’ represents which of the following Hetvabhasa

‘ores/ eafer fore B, awifs A seaea fve sna 1 as oo, Bafeifaa J o dcapna & dag 37

[Question ID = 2050][Question Description = $2_qSNz_PG_GP20_Q30]
1. Ashrayasiddha/angpnidg [Option 10 = 8197]

2. Svarlpasiddha /=g [Option 1D = §198]

3. Viruddha/faesg [Option 1D = 5199]

4, Kalatita/wwmwir [Option ID = 8200]

Correct Answer :-
& Ashrayasiddha/zngmifing [Option ID = 8197]

26) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A good computer networking solution can be very much beneficial for your business.
Reason R: With computer networking, you can cut back on costs and allow for efficient use of resources.

In light of the above statements, choose the correct answer from the options given below

ofiY 21 e Bu s 8 ¢ wop aifdroera (Assertion A) @ =u 3 aiiz gzrer sa® o (Reason R) @ w=a # ;
e (A) | o5 IOl DRRIET Sicaikis AHicIeld MUD TR © 616 sifdciicre 8l J1bdar 8

o1vl (R) : ©RIes cicalidst & AR, 31U Tlold GH D2 ADd & Al AHILE! @ Bellrulsd YAl B2 Hdbd &
IURITE Seell @ JAICiRD #, sl e famedl 3 21 38 saz @1 o Hifew |

[Question ID = 2051][Question Description = $2_q5Nz_PG_GP20_Q31]

Both A and R are true and R is the correct explanation of Af(A) diz (R) gt swa & iz (R), (A) & w8t s & [Option ID = 8201]

Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) Ziei wra & wamg (R), (A) & ot e st & [Option ID = 8202]
A is true but R is false/(A) @ &, wag (R) smwa & [Option ID = 8203]

A is false but R is true/(A) seww &, momg (R) wrwr £ [Option 1D = 8204]

N NVE I Y

Correct Answer :-
e Both A and R are true and R is the carrect explanation of A/(A) 3z (R) ot wra &4z (R), (A) & 3t smeem £ [Option 1D = 8201]

27) Arrange the following optical storage devices in increasing order of their storage capacity.
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below:

ot aifteoa HSRUI/ SR REI0T JURGIVIL I Joh] HUSIIVT Il O d64 O d caalad Hifoe ;
A. 3t
B. 1.3t - anmsiioa
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[Question ID = 2052][Question Description = $2_qSNz_PG_GP20_0Q32]

A, B, C/A, B, C [Option ID = 8205]
B, A, C/B, A, C [Option ID = 8208]
A, C, B/A, C, B [Option ID = 8207]
B, C, A/B, C, A [Option ID = 8208]

o e =

Correct Answer :-
e A B, C/A, B, C [Option ID = 8205]

28) Given below are two statements
Statement I; Tablet computers have touch screens.
Statement II: A tablet computer has a keyboard.

In light of the above statements, choose the correct answer from the options given below

il ) e Re s 3 ;

@erel - | ; Tacc TIwe @ urd ca Tl W 2

@erel - || ; v 2acie sawges 3 B e 3

Uk Bl @ el 3, ofky fdu e famedl H 3 78t 30z @1 s Hifsw @
[Question ID = 2053][Question Description = $2_qSNz_PG_GP20_Q33]

Both Statement | and 5Statement || are true/rem | 4z |l @t 21 & [Option D = 8209]

Both Statement | and 5tatement |l are false/mem | oz || 3wl s & [Option |0 = 8210]
Statement | is true but Statement |l is false/@ruet | 3wa €, oo e || sera & [Option 1D = 8211]
Statement | is false but Statement Il is true/awem | s 2, freg wem || @ € [Option 10 = 8212]

P

Correct Answer :-
e Both Statement | and Statement 1l are true/wem | #i= || S=if = £ [Option ID = 8209]

29) Which of the following statements about desktop and laptop computers are TRUE?
A. Most modern laptop computers have built-in webcams

B. Desktop computers are not very portable

C. All desktop computers have built-in touchpad

D. Laptop computers are rarely supplied with a mouse

Choose the correct answer from the options given below:

3Fpeiu Jiz AUy Daeges o d1: A oiraiicsa weral A oia T 8 7

A, aftroas anegfors dadia weegez # da - S usd A oo gam 2k &

B, 3vwdiu waxges agd AR Tenmiael - deT #d 21 &

C. mft 3raeiu waegest 3 fee - go <ot - O Bien B

D. dudia oregeel & sgfd A & Arer gga & oa ufiefory # il 2

olfar 16w s1e faapeal 3F 2 F71él Iz &1 ae Hifag ¢

[Question ID = 2054][Question Description = S2_qSNz_PG_GP20_Q34]

A, B and C only/dze A, B iz C [Option ID = 8213]
A, B and D only/@am A, B afiz D [Option D = 8214]
B, C and D only/@am B, C sfie D [Option ID = 8215]
A, B, Cand DfA, B, C sz D [Option 1D = 8216]

L kad R

Correct Answer ;-
o A, BandC only/@mm A, B 3z C [Option D = 8213]

30) Match List | with List Il

List | List Il
{Computer Terms) (Examples)
A, Operating system . Pentium
B. Application software |!I. Linux

C. Processor |III. Router
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Choose the correct answer from the options given below:

TRt -1 @ et -l B gARE Hif

it - | it -1
(T3 ug) (3crEzm)

A, st Reew |, tfoeam

B. uftaderer divcdw: . enserra

C. giRiiz I, zr3ez

D. sicaws tSasa V. §& - aisva

iy Rw s1e faseal 3 31 A8t 3w gfew

[Question ID = 2055][Question Description = $2_qSNz_PG_GP20_Q35]

A-1,B-1IV,C-Il,D- Il [Option ID = 8217]
A-11,B-1V,C-1,D- Il [Option ID = 8218]
A-1,B-1V,C-1Il, D-I[Option ID = 8219]
A-NI,B-1,C-1,D-IV[Option ID = 8220]

Pl o R

Correct Answer ;-
e A-1,B-1V,C-1l,D- I [Option ID = 8217)

31) If the wind speeds increase from 4.0 m/s to 5.0 m/s, the power output from an ideal windmill will increase by a factor
of about

e uasl o 7161 4.0 i, / 7 A agos 5.0 /A & =rdl B, o oo ancof adet aadl 3 giy 2ol arcl [l srarcol A ceneT ol @ PG 3
afy aeht ?

[Question ID = 2056][Question Description = $2_qSNz_PG_GP20_Q36]
1. ~ 2/ .2 [Option ID = 8221]
2. ~3/..3[Option ID = 8222]
3. 4/ .4 [Option ID = 8223]

4. .. 5/~.5 [Option ID = 8224]

Carrect Answer ;-
e _2/.. 2 [Option ID=8221]

32) In which year did the first commitment period of the Kyoto Protocol come to an end?

aarer Gicsia @ asd gftrgar wrer wr da Boa ad d g ?

[Question ID = 2057][Question Description = $2_qSNz_PG_GP20_Q37]
. 201172011 [Option ID = 8225]
. 2012/2012 [Option ID = 8226)
. 2014/2014 [Option ID = 8227)

. 2008/2008 [Option ID = 8228]

oW R

Correct Answer ;-
a 2011/2011 [Option ID = 8225]

33) Match List | with List Il

List | List Il

Disease Mode of spread

A. Cholera l. Lack of water to maintain cleanliness

B. Trachoma Il. Involves water contact but not ingestion
C. Schistosomiasis ]III. Ingestion of polluted water

D. Dengue |IV. Requires host

Choose the correct answer from the options given below:

TRt -1 @ et -1l B gARE Hif

et | et -1l

(3e1) (g a1 axdie)

A. Soir ll.mﬂ}ﬁrmﬁ'{iﬁﬁmaﬁﬂﬂmﬂa

B. 5t (Sevten) . st rer A o e 3 0w siefsor wi
C. Prpdfrbm . gefa o @ siasfen
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[Question ID = 2058][Question Description = S2_qSNz_PG_GP20_Q38]

1. A-11,B-1I, C- 1V, D- I [Option ID = 8229]
2. A-NI,B-1,C-IV,D -l [Option ID = 8230]
3. A-NI,B-1,C-Il, D- IV [Option ID = 8231]

prepp

Your Personal Exams Guide

4. A-1,B-I,C-N, D- IV [Option ID = B232]

Correct Answer ;-

e A-Il,B-III,C-1V, D-I[Option ID = 8229

34) Which one of the following Sustainable Development Goals (5DGs) is related to sustainable consumption and production

patterns?

Torraifertiae 31 21 @lel - A1 Hemevfla feeprer agr (oa &t i) siarzefla Suse iz Iearcs & 30 3 3T 8 7
[Question ID = 2059][Question Description = S2_qSNz_PG_GP20_Q39]

1. SDG 9/wa <t ot 9 [Option 1D = 8233]
2. SDG 10/ex <t =it 10 [Option ID = 8234]
3. SDG 11/ex <t it 11 [Option ID = 8235]

4. SDG 12/va <t it 12 [Option 1D = 8236]

Correct Answer ;-

o SDG 9/war st ot 9 [Option ID = 8233]

35) What fraction (%) of the total primary energy used in India is derived from biomass?

AIF 1 YeieT i aiol arcll qget gueiling St oI @il - AT e (%) Siassla (ariiam) 2 sruoet gier & ?

[Question ID = 2060][Question Description = $2_q5Nz_PG_GP20_Q40]
1. ™~32%/~ 32% [Option ID = 8237]

2. ~42%/- 42% [Option ID = 8238]

3. ~56%/~ 56% [Option ID = 8239]

4, ~22%/~ 22% [Option ID = 8240]

Correct Answer :-

» ~32%/~ 32% [Option ID = 8237

36) What does NIRF stand for?

wot 33 3R 0% (NIRF) o guf ma g & ?

[Question ID = 2061][Question Description = $2_q5Nz_PG_GP20_Q41]

1. Natienal Institute of Ranking Federation /st siwagg aiiw et =39t [Option D = 3241]
2. Natianal Institute of Ranking Framework/dgmr siRecge 4w et Gamaw [Option 1D = §242]
3. National Institutional Ranking Framework./alermre sfizgmeme e B [Option 1D = 8243]

4. National Institutional Ranking Federation/ sisrerm shegeme 3o woerer [Option 1D = 8244]

Correct Answer ;-

e Natfonal Institute of Ranking Federation/stomre siieegg siiw 3Rpe Bsdom [Option D = 8241]
37) The term 'open learning' represent approaches that focus on

A. Opening access to education and training provision

B. Freeing learners from the constraints of time and place

C. Learning and evaluation without a specified curriculum

D. Offering flexible learning opportunities to individuals and groups of learners

E. Making students free from any educational loads

Choose the correct answer from the options given below:

forrmfertian 3f 3 fdpoIuz ¢2re1 Diga Dol alc! SURTHT ®) "G AP (Aud afsler) greg gotfen 2 7
A. forar a gfdraror @ gratner @t afa i e

B. sy 3ite vema &t oftersi 3 2ignddfal @t wer ween

C. Rref Rifdrse argeraal & Ren srffewr s geiwe

D. waftral siiv Biznell wasl @ aia siftem s ggrer assan
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[Question ID = 2062][Question Description = $2_qSNz_PG_GP20_Q42]

1. A, B and C only/dam A, B 3fiz C [Option [D = 8245]
2. A, Band D only/saer A, B &z D [Option ID = 8246]
3. A, Band E only/&am A, B Jfiz E [Option ID = 8247]
4. B, C and D only/@ae B, C stz D [Option ID = 8248]

Correct Answer :-
o A B and C only/daa A, B sfiz C [Option D = §245]

38) In CBCS, Ability Enhancement Courses are of two kinds. They are:
A, Ability Enhancement Compulsory Courses

B. Skill Enhancement Compulsory Courses

C. Ability Enhancement Elective Courses

D. Skill Enhancement Elective Courses

E. Skill Enhancement Courses

Choose the correct answer from the options given below:

CBCS o divamr daeld A S UeR DA 3 43 ¢

A. e Hatler siferart urgrrs

B. wierc datler sfcrart uigeraa

C. deam HAatha Soliaw ugeaa

D. wlvrer Fiatla dwituw ugrps

E. wiera Fiatle uigeres

oiil 18 =1u faweal d A 1l Iz D1 T DT 2

[Question ID = 2063][Question Description = $2_q5Nz_PG_GP20_Q43]

1. Aand B only/awmm A afz B [Option 1D = 8249]
2. Aand C only /gt A diz C [Option 1D = 8250]
3. Aand D only /et A diz D [Option 1D = 8251]
4. Aand E only/dae A i E [Option ID = 8252)

Carrect Answer ;-
a A and B only/s5m A &3 B [Option 1D = 8249]

39) Which of the following is a private university?

forafeifian 3 31 wlet -1 ol Krealienoa 8 ?

[Question ID = 2064][Question Description = $2_qSNz_PG_GP20_Q44]
1. Anna University/ s frafenerr [Option 1D = 8253

2. BITS pilani/faz= (BITS) Remwsht [Option ID = 8254]

3. Burdwan University/aduam Rraftenermr [Option ID = 8255]

4. IT/s05 ans ams 2t (11IT) [Option ID = 8256]

Correct Answer ;-
e Anna University/seer Reaiemmrr [Option (D = 8253]

40) India has been attracting only a fraction of international students because of
A. Lack of residential accommodation for foreign students

B. Difficulties in recognition of international qualification
C. Rigid admission process

D. Lack of enthusiasm among teachers

E. Lack of enthusiasm among students

Choose the correct answer from the options given below

W A oo orer aga wa sz et s 32 3 7
A. RRoll ol @& foe smarita Fien @1 pma
B. sicearcder iserar w1 Al Ygidl sl 6 aidensar
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D. firzwpl 3 sraE @ 3@

E. Renf¥ki 6 3cens @1 sm

ol fou =1e faepodl 3 3 71l e @1 ags difene ©

[Question ID = 2065][Question Description = $2_q5Nz_PG_GP20_Q45]

1. Aand B only/dswmm A 3 B [Option 1D = 8257]
2. BandC only/aweT B diiz C [Option 1D = 8258]
3. Cand D only/=xrT £ 3iiz D [Option |D = 8259]
4. Dand E only/@aer D afiz E [Option ID = 8260]
Correct Answer ;-

# A and B only/@am A 3z B [Option 1D = 8257

Topic:- GP_25NOV_SH2_C

1) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting, While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment, Use of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night.' We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. [llumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.

iy feu sz @ eamgds ulés |

giterepaiail & o AIE SR ol we dffas goorer Yguu Helfen) Z1T off Reell, @vamd iz dergs ol vz @ dien wafftres goerer ggam
AR o1l 9 T orn ¥ A sd gosier gouor 9 anemelt Amen & gftt ada 8 sien wifde o daa B dwor & Rie s s o wr B 8
afees e et aid= off F goor9t Yguul ol drusd Side ar gotel - g & sliorblie Y A 2 5[is @mide are gl - caaral of
AT HSDI UT F2E dlol D i Fie arsdl & wu # 2t 3 3z a8 & 3082 3 uge! a TR 3ol A AR Bl 8, i & T <ol 3
ufrgdif, gdlus, yar scnfe @ R sownT griler of spen 9% orn 8, BRIl ge1er gouvr @ 931 cusa sl & izl i Szt ol Brerwn 2
o5 20 adf &t saftr # g smea # ansdt st 21 gim ket archt Sy 3 offy - N gty awdt orf 8, foradl oif Reel), ddionan, #erre, Tafew diz
I gqoar A 1993 A 2013 & dta "seafis gouor igar” gfy; Sww6t o Gkt 3

arcafere ot aier gorer - saasen A o Dad Ao O Farrey a3 afte ugg - uffrl sz SIS @ rarrea a3 iz AR gufazer ue ot ©f
SRIDIT Y 3 § Ay, O Gl aredl S et 3 A R A Uer @ e Bee a@ el 3 gty 2l § uig sad aaa 'ufy - o’ &
AT Foeasa skl § v mswl &t sesacar an san a3 3 gaor slar ¥ A 9 ol sndl F oldend 81t B su By - Steror T a3 saosT g
Usdl &, Rt sar AollGeIil a IR T o0 g Us Jdhdl & Rl @ Yoldol UeL3i 3z whicl wI sl gynfam e & geprer geuur 3
Haifere aifer afiae G itz ofdri @) 2xll 2 a1E 308 Ryl @ San 2 3z Jord Yololol @ Jiiz Borasu  Jokbl Aoz o ganfa o 2

The light pollution map is related to adverse effects of
UebIol Ygunl Al koaas yfvpe Qenl 31 Feféra 2 7

[Question ID = 2066][Question Description = $2_q5Nz_PG_GP20_Q46]
1. Sunlight /= =51 georgr [Option (D = 8261]

2. Outdoor artificial light/arsr sipr gt [Option [D = 8262]

3. Urban electricity projects/ et R uiEisems [Option |D = 8263]

4. Rural electricity projects/smitor g uiicemd [Option ID = 8264]

Correct Answer -
e Sunlight/ i @1 goer [Option D = 8261]

2) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
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recent decades, resulting in the problem of light pollution, Studies show that the brightness from outdoor lights has risen

steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a

"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment, Use of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night.' We find it difficult to fall asleep when the glow of streets enters our
homes, It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. lllumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.

offal fou sreTion 1 eIy ufew :

giterepaiail & b AIE S Rl wos dffas goorer Yguu Alelfen) ST off Reell, o iz dergs ol wiw @ dier wafftres goerer ggam
AT SP1E1 A 330 SR SR Sl Yrptel gyguvl Bl sremeilt Fen < g s@a @t sien anige o Daa Brrst dwa & o s sem grm o 3 &
afes f3rara & arliiict oft 8 g(ooror QgHuT o drcu=l S arer gao19r - wIasat @ slloibied Yeld 3 2 Sdics DidA arer gl - <razan &l
RIS TSI U? g0 a5t D fre e asd @ wa # 8kl 3 oy @5 &3 3180 3 ug6l @ o o) # werar oxl 3, s @ o g #
ufrgdiffy, geiuel, yme scanfe & o seot geier @f sfen a6 3R &, ey ymrer geunt & Jesar 3cusd gldl & 3MeRsl d Sm6 ®f o &
o5 20 adf &t saftr d g sea # ansdt st 21 gim ekt archt Sy 3 offy - N gity awdt orf 8, foredl oif Reel), ddionan, #errg, Tafew iz
I oo i 1993 3 2013 @ & "srafrr gguvn digen”’ gfy; 2w ot fesdt 3

srafing wim S8 goe1er - Rk A of Dad #oT D TR 1R dfew uyl - uldrl 3z Bid @& rarea uz i san waiaeer uz st o
SRIEIEG Yrra A B afy B SR arzel & geier I g o Az UG & e Bios: am 6 & afy A § uig Tad aaa ‘wf) - ' &
THFA Ie0ca St B s sl ot sssacar @ sl w2 A gder siar B ol 9 offs sl A ot Bl 3wy Bigr - Sereor e a7 sE@T g
Usl &, iAol sardl #Aollcolmil a e Uz 3z Yy Us A®dl & F0 ©f Yelds a9l Az $icl ol il guIiaa o= & goI9t Yoo 3
Faiftrs sifsr afeae GI s afdrm o @t 2 a5 358 Reyfi w3 2o 3 3z 3000 garaior @) i worasa 3o Serziwar ©f g ween 3

One of the major pollutants is in the form of
U A Y19l Ygud e wu # 2waer o e 3 7

[Question ID = 2067][Question Description = $2_qSNz_PG_GP20_Q47]
Indoor lights/sigs &1 anzd [Option 1D = 8265]

Street lights/mew ) e [Option D = 8266]

Home lights/a3 @51 ez [Option 1D = 8267]

[lluminated advertising/udim qam [Option 1D = §268]

B T e

Correct Answer :-
® |ndoor lights/sigs @ amee [Option ID = 8285]

3) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting, While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment, Use of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night.' We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. [llumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.

i) feu sremor @ eamgds ulés |

oiterepaiail & o AAE SR ol we dffas gorer Yguu Alelfe) £11 off Reell, @vamdr iz dergs ! wiza @ dier wafftres goerer ggam
AR oErel A T orn ¥ A 9 gosier gouor 9 anemeht Anwn @ gft ada 8 sen wid o Daa B Awor @ Rie s s eoa wr B 8
afees e et ais off € Y19t yguur ol drrusd Sige 9 gorl - g & sloiblie Y A 2 s[iks @mide are gl - caaral of
ATAYIE FSDI U G delel D 1w e eisdd @ wu & At 3 iz 21E & 318 I ugol a T Dol 3 AERET oxil 8, g & T ol |
uf g, gdlaa, yar scanfe @ e s9wnT griler of sfen 9% RN 8, BRIt gae1er gguvr @l A1 Frusa il & sieal 3 Szat ol e
o5 20 adf &t sm@fer d g sea # asdt st 21 gim ket archt Sy 3 offy - i gity awdt orf 8, Rradl oif Reel), ddionan, #errg, wafew diz
T gqoar A 1993 A 2013 o dta "seaftcs gouor digar” gfy; Swm6t o freecdt 3

stceftyr @it are gooer - saaTen A of Da Acqea O Fareed u? gfte gy - afdrd sz Hid © rarrea a3 iz san gulaser g3 it of
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AT Frdod Bikll o1 FsS®I Bl Ioaacl B Gl #H21 i Y9I S & dl G ol 3l d oidars erlt 2 salk ol - IR o™ Uz $H®T gHE

azar 3, Brawr smA asngomil a raren a sihy gera o5 mwm 3 well w1 gdlaa agrsi iy BHid @t M gquiRa ween ¥ gosrer gouor #

Halttrer sifor F1fcae @il sifiz al2r @ 8l 3 a7 302 [eeyidm @z o & afiz SorD gooid ®l 37 Borasd  Jorbl STeial Wl YHIRT X &

Light pellution intensity refers to
CRBIYT Yeuvl Adlgen o aruxi Kot & ?

[Question ID = 2068][Question Description = 52_qSNz_PG_GP20_Q48]

1. Increased outdeor brightness during night time /=iy @ e =gt 5% ana St [Option 1D = 8269]

2. Manifold hike in use of electricity in rural areas/amir St # Rt @ geier # =2 =en afy [Option D = 8270]
3. Use of artificial light for road safety/ =y gesn o Rm affpr aee wr geien [Option 1D = 8271)

4, More and more use of electricity in urban areas/si=d il 3 Rl o afdroifee qeiter [Option 1D = 8271]

Correct Answer :-
& [ncreased outdoor brightness during night time /=) < e agft 5 awe ST [Option (D = 8269]

4) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
“very high light intensity pollution” rise between 1993 and 2013,

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night.' We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. [llumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations,
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Excessive hours of artificial light adversely impacts our
A. Work schedule

B. Sleep cycle

C. Study hours

D. Moods and health

Choose the correct answer from the options given below
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C. uerd @ o
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[Question ID = 2069][Question Description = $2_qSNz_PG_GP20_Q49]

A and B only/sae A 3 B [Option 1D = 8273]
B and C only/@aer B diiz C [Option 1D = 8274]
B and D only/e=er B iz D [Option ID = §275]
C and D only/d5ae C 3ftz D [Option (D = 8276]

e

Correct Answer :-
o Aand B only/@aa A Jfiz B [Option 1D = 827 3]

5) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting, While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment, Use of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night."' We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. lllumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.
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The loss of night, as mentioned in the passage, will lead to
s1Ertol 4 b o1e Jooma & g Al - o 3 o= gie ?

[Question ID = 2070][Question Description = $2_qS5Nz_PG_GP20_Q50]

More human productivity /aiéms sem srogasan [Option ID = 8277

Increase in education/Bso i gii [Option 1D = 8278]

The altered activities of noctumal creatures/Iivrr S o ufaida femeom [Option ID = 3279]
The well-being of human population /e e &1 Te=mo [Option 1D = 8280]
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Correct Answer :-
® More human productivity/affrs smem stoeasm [Option ID = 8277



